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I.
Erie Doctrine and Choice of Law:  The cases


A.
Generally



1.
Horizontal choice of law‑‑which state's law to apply



2.
Vertical choice of law‑‑federal law vs. state law


B.seq level2 \h \r0 
Summary of current rules



1.
Federal questions‑‑federal judges are the final arbiters of federal law



2.
Diversity‑‑federal judges must defer to state law (including state court rulings)


C.seq level2 \h \r0 
Swift v. Tyson


1. 
Facts:  Diversity case in federal court to determine whether an IOU induced by fraud is valid. NY state common law would find that when fraud is involved, the transfer is invalid. Does the federal judge have to follow NY precedent? Depends on the court’s interpretation of the Rules of Decision Act. 


2.seq level3 \h \r0 
Heart of the procedural argument is the construction of the Rules of Decision Act, 28 U.S.C. '1652 (1789)




a.
"The laws of the several states . . . shall be regarded as rules of decision in civil actions in the courts of the United States"





(1)
Two possible constructions






(a)
Statutes (positive law)






(b)
Case law (common law)



1.seq level3 \h \r0 

seq level4 \h \r0 

seq level5 \h \r0 
Court narrowly construes the Rules of Decision Act so that the federal court only has to defer to state law when there is a state statute.

5. Story’s rationale – that common law is a transcendental set of rules that are not dependent on any sovereignty.  The courts don’t make the law, they “discover it”. The intention was to create a uniform system to govern disputes between different states. 


D.seq level2 \h \r0 
Black & White Taxicab nightmare



1.
Kentucky state common law forbids exclusive solicitation agreements between railroad and cab company.



2.
Black & White Taxicab, originally incorporated in Kentucky, incorporates in Tennessee to create diversity (to get into federal court) and signs an exclusive solicitation agreement with the railroad. (Now, procedural rules prevents reincorporation in another state to create diversity jurisdiction)



3.
Black & White sues Brown & Yellow taxicab in federal court using diversity to get an injunction to prevent Brown & Yellow from violating their exclusive solicitation agreement.



4.
Federal judge, using federal "common law," (ignoring Kentucky common law) issues the injunction.

5. Kentucky ( was trapped in federal court (( can’t get a case sent down to state court). Under Swift, ( did not get the benefit of Kentucky common law. 


(
Allows out-of-state ( to trap in-state ( into whichever court 



they choose – because an in-state ( can’t remove to federal 



ct. and can’t get case sent back down. 

(          Leads to forum-shopping advantage for out-of-state (’s in 


diversity cases.


E.seq level2 \h \r0 
Erie R. Co. v. Tompkins



1.
Facts




a.
Tompkins was walking along the train tracks in Pennsylvania when he was hit by an object on the train‑‑probably an open door




b.
PA law-- gross negligence required for ( to recover (Tompkins would lose)




c.
NY law— has simple negligence standard – NY state courts apply law of the state where the accident occurred (PA law- so Tompkins would lose)




d.
Fed "common" law‑‑ simple negligence standard - (’s best choice (only way ( could avoid gross negligence standard)




e.
Tompkins (PA () sued Erie RR. (NY () in NY Federal Court using diversity
(1) Federal Circuit Court applied Federal Common Law and Tompkins won (SC overturns)

II.seq level1 \h \r0 

seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Erie Doctrine

A.
Political Background




1.
Reformers were hostile to federal judges who were using federal common law to nullify economic reform (Lochner v. NY)




a.
New Deal Rejection by the federal bench




b.
Court packing plan – (FDR tries to appoint a lot of new federal judges to make the federal bench more supportive of the New Deal)




2.seq level4 \h \r0 
New goal:  states are reconceptualized as experimental laboratories of legal reform.  What is the right mix of justice and uniformity?

B. Modern model of legal realism

1. change from Swift’s idea of law as something out there to be discovered – 


to law as an exercise of political power


A.
Problems addressed by Erie Doctrineseq level2 \h \r0 

seq level3 \h \r0 




1.
"Discrimination" between in-state and out-of state defendants




a.
Elimination of forum shopping (as in Black & White Cab)




(because of synchronization federal and state outcomes) 






(1)
Vertical choice of law/forum






(
Before Erie, in-state litigants had only one 







choice of law while out of state litigants had 







two (remember possibility of removal)







(in state litigants are trapped in whatever court 







the out of state ( chooses because they can’t 







remove and can’t get out of federal court – 







meaning out of state litigants can pick which 







law is better for them)






(
After Erie, decision to litigate in federal court 







will not impact choice of law 

(2) Horizontal choice of law/forum was not addressed in 






Erie





(
Ryan says “Vertical harmony, horizontal 







cacophony…I’ve got your Glannon for ya”






(
doesn’t eliminate all forum shopping by (’s 







because they can still choose between the law 







of different states


2.
Were there other solutions to the discrimination as elucidated in Black & White?




a.
28 U.S.C. '1359‑‑Forum shopping elimination statute (can’t change your place of incorporation just to get diversity)




b.
Other possibilities

(1) Using only the principle place of business as the test for 


diversity of parties

(2) Allowing defendants to remove when sued in their home 






state.

3.      Failure of Swift 

a. Goal of Swift was- creation of uniform federal common law 





administrated by well-educated federal judges which state 





courts would then want to follow – didn’t happen

(1) Since federal judges weren’t bound by each other’s 






decisions and were free to interpret the law 






independently, they didn’t decide things the same 






way. ( no uniform system.



4.
Federalism and the Constitution

a. The Constitution explicitly grants the federal government certain 


powers and leaves all those remaining to the states. Swift 


took law-making power away from the states (and gave it to 


the federal court) in areas where the federal government 


was not granted law-making power. So Swift runs contrary to 


the Constitution.

b. Separation of powers

(1) Since the federal government could create laws in this area (RR) (by regulating interstate commerce), are we saying that the federal legislature has more power than the federal judiciary?(idea that if Congress can’t make a rule, certainly the federal court shouldn’t be able to) If Congress can do it, why can’t the federal judge?

(2)  Depends on what you think the role of the court should be. If you think that Congress should make laws and the courts only interpret them – then this is a proper way to separate powers. But if you think that the court should make law like Congress – then this is not good.
c. "Congress has no power to declare substantive rules of common law applicable in a state . . . Supervision over either the legislative or the judicial action of the states is in no case permissible except as to matter by the constitution specifically authorized or delegated to the United States" (378)

d. What if there is no state law on the subject?

(1) Federal judge can try to guess what the state court would do or they can abstain (so sends case to state court)

III.seq level1 \h \r0 

seq level2 \h \r0 
Post-Erie Adjudication:  The conflict between state and federal rules

A.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Guaranty Trust Co. v. York (1945 on 368) (Outcome Determinative test)



1. 
Issue – Does the state statute of limitations, which would bar the suit in state court, also bar the suit if it’s brought in federal ct. under diversity?  

· State substantive law obviously applies because of Erie – but what about procedural rules?

2. (Substantive state law applies in federal diversity cases. It seems like the later cases are trying to decide whether seemingly procedural differences between state and federal rules actually turn out to be substantive. And if they do – state rules should apply. The outcome determinative test is one consideration to use in figuring this out)



3.
Rule at issue here




a.
Difference between state and federal statute of limitations





(1)
Doesn’t affect how people behave prior to the event





(2)
Does affect how people behave after the event






(
forum shopping occurs (One aim of Erie is to 







prevent this)





(3)
Shorter statute of limitations creates riskier behavior






(
parties will take less care when they know the 







likelihood of getting sued is lower (when the S 







of L is shorter)




b.seq level4 \h \r0 
Length of time represents





(1)
Staleness of the claim





(2)
State's desire for repose/finality






(3)       Importance of the norm to the state






(
state enforces norms by setting the length of 







the Sof L (making it longer the more serious 







the state thinks the crime is)


(
Don’t want someone to take advantage of 



federal rules in order to circumvent the rules of 



the state 



2.seq level3 \h \r0 

seq level4 \h \r0 
Outcome determinative test




a.
"In all cases where a federal court is exercising jurisdiction solely because of the diversity of citizenship of the parties, the outcome of the litigation in the federal court should be substantially the same, so far as legal rules determine the outcome of a litigation, as it would be if tried in a state court" (371)



3.seq level3 \h \r0 
After Guaranty, federal court cannot use its equity powers to grant relief after the state statute of limitations has expired.



4.
Possible problem: 




a.
“outcome determinative” could mean simply outcome affective 





(1)
Everything can be seen as "outcome determinative"(that's why we're in court)





(2)
The state rule could/would always trump the federal rule

B.
Ragan (1949 at 387)



1.
Rule at issue




b.
Rule 3 - Suit is commenced at the time the lawsuit is filed




c.
Kansas law - Statute of limitations is tolled only after defendant is served



2.seq level3 \h \r0 
"Test" used




a.
Rule 3 is construed narrowly so as not to determine when a statute of limitations tolls




b.
There is no COLLISION between the federal rule and the state statute

3. Apply state law because federal law is not in conflict with it (no supremacy argument to be made)

And because ct. already decided that statue of limitations is an important state interest so ct’s didn’t want to have any effect on how they were tolled



3.seq level3 \h \r0 
See also, Cohen (1949 at 372) where Federal Rule 23.1 (Shareholder derivative suit) is construed narrowly so as to avoid a collision with a NJ state statute.


B.seq level2 \h \r0 
Byrd v. Blue Ridge (1958 at 373)

1. Issue – guy’s status will determine whether or not he will be immune from liability: If he’s an employee, he’s immune (the employer is liable). If he’s an independent contractor, he’s not. State law says a judge makes this decision. This conflicts with 7th Amendment, which requires a jury as the finder of fact.


2.seq level3 \h \r0 
"Outcome" is not the only consideration (375). 

(1) If only the outcome determinative test was used, you could argue that state law would definitely prevail (because juries tend to be more sympathetic than judges and therefore the choice is outcome determinative) – so balancing test is needed to protect federal interest

(2) BUT Amy’s cool point – the balancing test was never used again after this case. You could argue that it’s irrelevant here, too. Maybe federal law still prevails if you Do look at O.D. test only – because maybe the choice between judge and jury doesn’t necessarily make a difference; maybe it’s not outcome determinative.



1.
"Test" used




a.
Balancing test





(3)
Outcome deteminative issues; vs.





(4)
Importance of the federal interest



2.seq level3 \h \r0 

seq level4 \h \r0 
The Seventh Amendment "is an essential factor in the process for which the Federal Constitution provides" – so it’s an important federal interest (376)

5.       But! Policy – SC says that the federal interest here is strong while 




the state interest is insignificant. Neuborne says – how can they 




say that because the state legislature did debate and pass this rule 




for some reason – implying that there was some state interest at 




stake.



6.
What about the RDA? (Don teaches us his wisdom)  

(1) If the Seventh Amendment commands the result in Byrd, could the Rules of Decision Act dictate a contrary result? – because the RDA, at the least, mandates that federal judges defer to state statutes.


C.seq level2 \h \r0 
Hanna v. Plumer at (1965)



1.
Rule at issue‑‑service of process (state law requires actual physical service – more stringent than federal requirement, which lets you leave copies at the person’s house with someone who is of age)



2.
( says to use federal rules of procedure because the case is going to be filed in federal ct.. ( says to follow the state rules because the state has a strong economic interest here in enforcing its service of process rules for executors; federal interest is weak because for the federal ct, this rule is just for housekeeping; therefore, ct. should apply state rule (tries to use Byrd balancing test). Ct says no. 



3.
Interpretation of the goals of Erie



a.
Discouragement of forum shopping (between state and federal laws)




b.
Avoidance of inequitable administration of the laws (where resident (’s would be disadvantaged – being pinned into the ct. of non-resident (’s choice)  




c. 
Here, the difference in the laws doesn’t seem to encourage forum shopping and doesn’t seem to be an unfair administration of laws (seems to be a policy reason for why ct. went with the federal rule)



4. 
By Guaranty or Byrd, seems like the state would win here. So the ct. has to be looking at something more.  



4.seq level3 \h \r0 
"Test" used




a.
When the rule at issue is a federal rule, that rule is presumptively procedural 




b.
Asking – is it a validly enacted federal rule? - The court may avoid applying the federal rule only after determining that the Advisory Committee, the Supreme Court, and the Congress erred in their judgment concerning whether the rule violates





(1)
Rules Enabling Act (28 U.S.C. '2072) 






(
authorizes an advisory committee (with the 







approval of the SC and Congress) to create 







rules of federal procedure






(
These rules cannot modify or infringe the 







substantive rights of the states (meaning the 







rules are really procedural)






(
(if it made it through # 1, unlikely there will be a 







problem with #2)





(2)
Constitutional restrictions (Erie)

e. If there’s a federal rule, as long as it passes the Const. and the REA (where state interests are taken into account) – apply the federal rule (regardless of state rule) (because federal law is the supreme law of the land)



2.seq level3 \h \r0 

seq level4 \h \r0 
Harlan's concurrence

a. Rejects the purely textual approach (if there’s a federal law written 


somewhere, apply it)




b.
Does the state rule substantially affect decisions respecting human conduct?





(1)
Pre-event behavior – does the existence of differing state and federal rules cause confusion (in the way you go about your everyday life)?





(2)
Post-event behavior – does the difference cause forum shopping?






(a)
Rick’s epiphany – maybe service of process would affect behavior – like if one way of serving is much more expensive 







- not likely. People tend to behave differently  for strategic reasons in these situations

(b) Ex. D's ability to relax after the statute of limitations has run out.

b. Deep federalism test – if the behavior that the state statute is trying to regulate is very important, that statute should triumph regardless of the existence of a valid federal rule; (while majority would apply the federal rule no matter how seriously it frustrates state policy and state’s ability to regulate the behavior of their citizens) So the majority leans too far toward federal rule. At the same time, if you only consider forum shopping as a test, that goes too far toward applying state rules (b/c when there’s the likelihood of forum shopping- you use state rule); Point – you have to consider pre and post event behavior in light of state interest. (middle of the road, subjective, murky, pain-in-the-ass approach)

c. Considers the second part of the REA; While the majority says if it got through part 1 (got by committee, Congress and SC), then it must satisfy part 2 (not infringe on state’s rights) – Harlan says – no! you have to look more closely at state’s interest

d. Also, majority says that if passed committee etc., then it’s constitutional. Harlan says that’s too quick a judgement as well.




e.
Is Harlan's test too difficult to administer? Too unpredictable?

e. Harlan decides here – difference between the rules doesn’t affect pre-event, not likely to affect post-event and there’s no compelling state interest in having its rule followed – therefore, he concurs with the majority’s outcome.

f. This is like a modified balancing test – because it doesn’t allow federal rules to trump a compelling state interest.


D.seq level2 \h \r0 

seq level3 \h \r0 
Walker v. Armco Steel Corp. (1980 at 389)



1.
Rule at issue – when the S of L stops running




a.
Federal Rule 3 – “Suit is commenced” at the time the lawsuit is filed - ( tries to argue that this means that the S of L stops running at that time as well




b.
Oklahoma law - Statute of limitations stops running only after defendant is served



2.seq level3 \h \r0 
Generally‑‑Rationale in Ragan is reaffirmed.



3.
Ct. distinguished this case from Hanna by saying that in Hanna, the federal statute trumped the state one because the two were in direct conflict. Here, they aren’t (Amy says “Bullshit”)



4.
Tests used




a.
Is the scope of the Federal rule sufficiently broad to control the issue before the Court? Does the rule sufficiently address the issue? (Here, ct. says no because the rule is silent about whether the S of L stops running when “the suit is commenced”)




b.
Is there a direct conflict/collision between the state and the federal rule? (Here, ct. interpreted the statutes so that they were compatible with each other – because they were intended to cover different things)

5.      Ct. says since they don’t conflict (and since the federal rule was 




silent on the issue) – don’t automatically use the federal rule. 




Further analysis required.

6. Applying other Erie tests to Walker

a. Outcome Determinative test (Guaranty) – use state law because

(1) It’s outcome determinative 

(2) It’s a matter of substantive law

(3) Guaranty decided that S of L  issues are substantive issues

b. Harlan’s federalism test

(1) pre-event behavioral effect? No 

(2) post-event effect? Not typically; The only times it would affect behavior is when you’ve missed the S of L for one ct. and want to get into the other; Or when you want to file where there’s a longer S of L just to be safe;

(3) Based on that, seems to allow use of the federal rule.

(4) Then look at state interest – since it’s compelling here (as Guaranty established – that the state has an important interest in S of L rules) – the state interest wins and the state law is used

c. Hanna purely textual analysis – there is a federal rule. So you would go with that, except that ct. says that here the rule isn’t broad enough to cover this issue. You could look at it as though there were no federal rule at all.


E.seq level2 \h \r0 

seq level3 \h \r0 
Burlington Northern R. Co. v. Woods (1987 at 409)



1.
Rule at issue




a.
Federal Rule 38‑‑penalty only if appeal was frivolous




b.
Alabama Rule‑‑mandatory penalty for unsuccessful appeals



2.seq level3 \h \r0 
Test used




a.
Federal rule's discretion "unmistakably" conflicts with the mandatory provision of Alabama's penalty statute.


F.seq level2 \h \r0 

seq level3 \h \r0 
Stewart Organization v. Ricoh Corp.


1.
Facts – contract has forum selection clause requiring all conflicts be heard in Manhattan; case filed in Alabama. Can ( get the case transferred to NY when Alabama does not recognize forum selection clauses?



2.
Rule at issue‑‑applicability of a forum selection clause in contracts





(clauses saying all disputes from the transaction have to be 





heard in a certain forum)




a.
28 U.S.C. '1404(a)—allows transfer to a better forum (taking forum selection clauses into account)




b.
Alabama law‑‑Forum selection clauses are void as against public policy (so they are ignored)



3.seq level3 \h \r0 
Test used




a.
Walker test applied – 

(1) federal statute is broad enough to control the issue before the court

(2) This is not a case in which state and federal statute can exist side by side, each controlling its own intended sphere of coverage without conflict.

(3) Direct conflict found between a state law and a validly 

enacted federal law ‑ federal law wins as long as it’s constitutional (a valid exercise of power) 

(4) a Walker analysis followed by Hanna Q (of whether the statute is validly enacted)

4. Why are they entitled to a 1404(a) transfer? The ( can bring the case wherever they have jurisdiction. They are entitled to the law of that state. The forum selection clause says that they have to have the case heard in NY (for the convenience of the () – so that if they bring it somewhere else, they have to get a transfer to NY. 

5. Transfer is not going to be automatically granted because of the forum selection clause (under 1404(a)). Lots of issues taken into account. Alabama can’t go against the federal government’s policy of allowing these clauses to be considered. 

6. SO – There is a direct conflict ( the validly enacted (constitutional) federal statute wins.


G. Gasparini v. Center for Humanities
1. Facts – Gasparini filed suit against Center after they lost hundreds of slides he had loaned for use in an educational film; large damage award for (; trial judge applied shock the conscience test – says the verdict is not so bad that it shocks the conscience. Appellate ct. says the trial court was supposed to have applied the “deviates materially” test. Appellate court tries to fix the verdict accordingly. Holding that the appellate court can’t overturn verdicts itself. Has to remand to the trial court. AND trial court has to apply state standard. (All the Appellate court Can do now is to remand if they find an abuse of discretion)

2. Clash between how NY ct’s view jury verdicts and how the federal ct’s do

a. state views jury verdicts with suspicion at both the trial and appellate level; They set aside jury verdicts that the judge considers unreasonable or excessive (“deviates materially” standard)

b. Federal ct’s use the 7th Amendment which looks more favorably on jury decisions; So federal ct. overrules the jury’s verdict only if it shocks the conscience and only at the trial level;

3. Q – Can the US Ct. of Appeals follow state law and overrule a jury’s damage award because it “deviates materially” (as state law says they can) – or does the 7th Amendment dictate that they must follow the federal law?

4. Holding - Compromise – ct. tries to protect the jury (and 7th amendment) by not letting the appellate court overturn verdicts (only the trial court can – a piece of the federal law) But to accommodate the state’s position – make the trial court apply the state law standard -“deviates materially”.   

5. Leads to more consistent verdicts between state and federal ct’s

6. Points to a new test -  to compromise - intended to save as much of the federal law while trying to keep the basic point of the state law (Neuborne says “Melding test” ) (Neuborne says – problem with this – really unpredictable) 

7. Policy of the melding test (as stated in Gasparini) p. 400-401

a. allows a compromise between substantive and procedural issues

b. here, they considered that having a dift threshold for lowering verdicts is substantive because it is outcome determinative, it’s an unfair application of the laws and causes forum shopping – causes the problems Erie is trying to avoid; 

c. Federal law is procedural here because it dictates how you want power distributed between judge and jury and where you want the review of jury verdicts to come from; also, doesn’t have a substantive effect/cause Erie problems

d. Different from balancing test – because there, you would balance the interests and then pick one side’s law or the other; Here, they try to take both side’s interests into account (by making the hybrid of the two laws)

e. Seems like this is what the ct does when they don’t want to find a direct collision between the two laws (then ct. would have to pick federal law) Ct. wants to fix it so that both laws can be allowed to coexist;

V.seq level1 \h \r0 

seq level2 \h \r0 
Preclusion and Stare Decisis Generally:  Instruments of stability and uniformity

A. Policy of preclusion

1. Predictability/consistency – if 2 courts conflict, it undermines the integrity of the legal system

2. Judicial efficiency – don’t want to waste judicial resources

3. Fairness to both parties – you were given a fair trial; you shouldn’t have to go through another one  

4. Finality – at some point, there has to be an end 

5. repose to ( - ( can rest easy knowing that there no longer subject to liability

6. allows people to govern their behavior 

7. certainty

8. 3 ways to achieve finality

a. stare decisis – once an issue is decided, you stick with the decision even if you find out later on that it’s wrong; 

(1) 2 interpretations


( strict stare decisis – you can’t overturn a decision; 


   only legislation can change it


( presumptive stare decisis – you can overturn but 


   you need very strong justificaiotn to do so.

b. issue preclusion – once 2 parties litigate an issue – that’s it (aka collateral estoppel) 

c. claim preclusion – you only get a chance to litigate a claim/dispute once (have to bring it all at once or you lose) (aka res judicata)

B. Three Types of Stare Decisis in The United States

1. Statutory- Once courts have interpreted a statute’s meaning, courts will not later upset that interpretation.

2. Common Law Adjudication – The ability to overrule previous court decisions does exist but it is not common.

a. Balancing Interests- STABILITY V. RIGIDITY. Between total freeze on common law evolution and the need for predictability (have some idea how proceedings should turn out.)

3. Constitutional Law – Interpretation of the Constitution- Hardest to overturn- Only a direct reversal by the courts or constitutional amendment can change this

C. Stare Decisis Generally

1. Limits the discretion of the arbitor

2. Principles of Conservatism- Freezes the law of a certain time

3. Certainty of Precedent- Sharpens the Law’s effect on pre-event behavior

4. How Does the Law Evolve through Common Law Adjudication? (ways to evade precedent)

a. Use opinion to declare party relying on previous case law as prevailing but criticize the underlying rule in dicta (this dicta will be cited to by later decisions looking to change the law)

b. Prospective Overruling- Allows courts to abandon old rules because it frees the court from accounting for the effect that the change would have on previous decisions.  However, the litigants at bar ‘suffer’ for the change as they are the first to have new law applied to them.

D. Claim Preclusion

Note – notice whether you’re in federal court or not – because if not, federal rules don’t apply.

1.
The ‘Old Days’

a.
Doctrine of Merger – Dispute turns into the writ which turns into the 

judgment

b.
In writ system, the claim you brought was equal to the legal theory 

that you were suing on.  (Similar to Vasu’s distinct legal theories)

c.
You can only buy one writ at a time – However, over time, pressure 

developed to allow people to buy writs over and over until you buy the correct writ (theory of the case) 

d.
The want to buy many singular writs over and over has evolved into 

the right to bring in many distinct legal theories at once.  (many theories under one claim)

2. Modern Day Claim Preclusion – Generally

a. Sue under one transaction – allows you to bring multiple causes of action in one proceeding

b. Problem – Sometimes encourages parties to bring every conceivable action in order to avoid being able to bring them later

3. How do we decide what factual grouping makes up a transaction?

a. Considerations

(1) Relation of facts in time, space, origin, or motivation

(2) Formation of a convenient ‘trial unit’ (same parties, same 

witnesses, same evidence)

(3) Treatment as a unit conforms to the parties expectations or 

business understanding.

(4) Consider fairness issues to the parties when constructing the factual group

4. Does a transaction theory of claim preclusion make sense?

a. If there is no overlap in the two theories, why create preclusion?

b. We want to create efficiency through preclusion, but using too many claims or attenuated parties tends to harm efficiency.  

c. Why bring in two claims that appear unrelated?
5. Neuborne’s definition of claim

a. all possible theories of recovery that arise from a common 


nucleus of facts

b. the “common set of facts” is made up of all claims arising out of a single narrative – lawyers try to push either a narrow or broad story depending on what claims they want to bring or exclude.

c. Problem – very open idea; you don’t know what frame the ct. will put around the story

d. “Triangle of justice” – (three things to consider when defining the claim) – efficiency, justice to D, justice to P.



6.
Vasu v. Kohlers (1189)
a. Facts – accident between truck and car; Guy’s car damaged 


and he’s injured. Insurance co. buys the right to sue from 


Vasu (pays him off and then goes after the ( to recover for 


damages).




b.
Case #1‑‑Vasu's insurer sued Kohlers for damage to Vasu's automobile and lost




c.
Case #2‑‑Vasu sued Kohlers for personal injury damage and wins;( appeals.



           d.        seq level3 \h \r0 Issue centers on whether Vasu is claim precluded because of the insurer's loss.




e.
Analysis ***(This is screwy)





(1).
If ( loses, he’s precluded from relitigating the loss.

(2)      ( is arguing that Vasu already lost, so ( shouldn’t 


have to defend again.

(3)
Vasu argues using the theory definition of claim, 

     saying “case 1 was a suit for infringement of different 

     rights than case 2 – so the claims are different” (case 

    2 rests on a different legal theory)

           (4)     Vasu also says that he and the insurance co. aren’t

 the same party 




f.seq level3 \h \r0 
Narrow definition of claim





(1).
Different rights give rise to distinct causes of 






action‑‑claim for recovery on property is no bar to 






subsequent personal injury claim, unless the plaintiff 






is issue precluded. (theory definition of claim)





(2)
Conceptualization

· Claims are defined by the nature of the right 







they are used to protect






(
One right = one claim

· Personal rights are different from property 




rights




g.seq level3 \h \r0 

seq level4 \h \r0 
Where an insurer has acquired by an assignment or by 





subrogation the right to recover for money, its limited claim 





will not forclose a later claim by the insured/assignor.

g. More generally, parties are in privity with each other (count as the same party for preclusion purposes) if they acquire 


the interest in the subject matter after the beginning of the 


case. (so since the insurer acquired the right to sue from 


Vasu before filing the COA, they are not in privity/not the 


same party for preclusion purposes)

       
h.
Only a claim preclusion argument here.



7.
Rush v. City of Maple Heights (1210)



1.
Facts – Bike hits pothole, damages to bike and personal injury;




2.
Attorney tries to follow Vasu; Thinks he can split the claims; 



Brings case 1 in property court and gets a small judgement   

for bike damages. Then brings case 2 for the personal 



injury.

4.      ( says claim preclusion – you should have brought both cases all at   

          once



4.
Agrees with Vasu’s analysis of the parties (how to determine whether the parties are different for the purposes of preclusion)

5. Holds that Vasu’s analysis of what a claim is (theory definition of claim) was just dictum – so that ct. is not overruling Vasu 

6. Ct. does this to maintain stare decisis 



7.
Uses a transaction theory to define claim‑‑a single wrongful act.




Here – damage to property and the person in the same accident



8.
POLICY




a.
Narrow definition of claim allows Plaintiffs to play fast and loose with the rules (sue again and again)





(1)
Small action to find liability agaist D; followed by





(2)
Large action with no ability for D to defend




b.seq level4 \h \r0 
BUT broad concept of claim creates a "front loading" problem – people bring every claim they can think of

d. Transaction argument – there’s one tort, one action so all the damages must be sued for in one suit – want to prevent a multiplicity of suits which is expensive, delays to the (, and infectious litigation against (
8.Mathews v. New York Racing Association

a. Factual Background - Dude with inside information about horses gets the heave-ho from the track. (ejected with more force than needed – he says)



b.
Case #1‑‑Mathews against 3 Racetrack guards for assault and libelous statements.  M lost.




c.
Case #2‑‑Mathews against Racetrack itself and the guards’ bosses for assault, kidnapping, false arrest, and false imprisonment.

d.
Court uses a transaction theory to determine that Mathews is 


claim precluded

(1) "The facts upon which P predicates this action 


occurred on two days, separated by almost a week, 


but they are so interrelated as to constitute a single 


claim." (when they threw him out and when they 


prosecuted him – but both claims are based on the 


same group of facts, use the same evidence)

(2) The term "claim" refers to a group of facts limited to a 






single occurrence or transaction without particular 






reference to the resulting legal rights. (1195)  It is the 






facts surrounding the occurrence which operate to 






make up the claim, not the legal theory upon which a 






plaintiff relies

(3) Also, Mathews can’t bring the claim against the 






parties in case 2, because they are clearly in privity 






with the parties in case 1;




e.
Neuborne did not think the facts in this case overlapped.  Is there necessarily an overlap between an assault and later libelous statements?




f.
Ct’s opinion notes policy concerns that claim preclusion addresses (efficiency, avoiding repetitive litigation, one day in court idea)

h. Transaction theory is crucial for broad use of Rule 13(a) 


[compulsory counterclaims]

(1) Allows for broad federal litigation of state claims 






through pendant jurisdiction





(2)
Creates incentive to bring broad range of claims





(3)
Bars court from hearing some subsequent claims


9.seq level2 \h \r0 

seq level3 \h \r0 
Federated Department Stores v. Moitie (1981 at 1219)

a. Facts – seven P’s bring an anti-trust action in federal ct. Suit is dismissed – P’s 1-5 appeal to 9th Cir. and win; P’s 6&7 try to bring the case in state court (Don’t appeal the federal dismissal) – D removes 6&7 to federal ct. (diversity). Fed ct. judge says 6&7 are claim precluded (saying there was already a judgement. When you didn’t appeal it, that judgement became final. You don’t have a claim anymore.) (When P’s 1-5 win, 6&7 don’t get to benefit from it)

b. Danger of inter-system preclusion – one system’s  decisions are preclusive on the other’s; 

(1) Whenever you have state and federal claims, you should raise them both in the same court (if there’ s common nucleus of operative facts).- if you don’t and try to split the claims, you run the risk of losing them because of inter-system preclusion

(2) If you bring both claims in one ct. or the other, they may end up split (due to remand or removal) but you must bring them both together to begin with.



10.
Jones v. Morris Plan Bank (1937 at 1198)




a.
Facts





(1)
Jones took out a car loan from a bank

(3)       Contract had an acceleration clause‑‑if Jones missed 


one payment, the entire note is due





(3)
Jones missed May and June





(4)
Case #1‑‑Bank sues for May and June





(5)
Jones missed July





(6)
Case #2--Bank sues for July

b. Jones argument‑‑when he missed May and June, the acceleration clause kicked in. Bank then had the right to sue for the entire amount.  Because the bank sued only for May and 

     June payments (when it could have recovered the whole 

      Amount), it was claim precluded from seeking the rest 

      of the note.

c. Bank's argument‑‑acceleration clause is separate part of the 


transaction.  Conceptualizes 1) the actual loan (the monthly 


payments); and 2) the security used to underwrite the loan 


(the acceleration clause) as separate transactions

.d.
Court's analysis





(1)
Transaction theory






( Jones missed one payment





           ( At that time the whole note became due






( Failure to claim the entire obligation created claim 







preclusion





(2)
Common set of facts






( "The evidence essential to support the action on 






     the two installments for which the action was 

  




     brought would be the identical evidence necessary    






     to maintain an action upon all of the installments."




e.        After Jones, banks include express provisions that 


acceleration clauses are OPTIONAL and are to be used at 


the bank's discretion.

f.     Jones got the car and only had to pay the judgement from case 1, which the ct.  considered the final judgement in the matter.

11.        Mitchell v. Federal Intermediate Bank (1932 at 1201)

Note – how a defendant can be claim precluded from suing later by using the same facts as a defense in case 1 that he is going to use as the basis for case 2. 




a.
Facts





(1).
Mitchell gets a $9000 loan; He assigns his potato crop 






to the bank to cover the loan; Bank sells the crop for 






$18,000. An agent of the bank steals the $18K. 





(2).
Case #1‑‑Bank sues for $9,000 loan and Mitchell 






claims that the proceeds from the potatoes paid off 






the note. Mitchell wins.





(3).
Case #2‑‑Mitchell sues for the remaining $9,000.




b.seq level3 \h \r0 
Court rules that Mitchell is precluded (1203)

(1) Mitchell could have recovered during the 1st action using the same allegations and proof that he used as a defense. He could have recovered then for the other $9,000. He didn’t do it and tried to split his claims. (Can’t use a group of facts as a sword and a shield)

c. Compulsary counterclaim rules (13a) codifies this rule of preclusion – saying that if you fail to raise a compulsary counterclaim in case one, you may not raise it in subsequent litigation;



12.
Policy Q – are rules of preclusion the same for P’s and D’s?




a.
The 3 interests we have to weigh when considering 





compulsary counterclaims:

(1) efficiency

(2) fairness to D

(3) fairness to P

g. Federal ct’s generally focus on efficiency. This is 


demonstrated by their use of rules like 13(a) (how they 


interpret claims broadly to make more claims compulsary – 


and precluded later) Cts seem to overlook possible 


unfairness to D’s:

(1) D’s enter a trial with a defensive mindset – trying to defend, not launch an attack (so they should not be precluded for not raising a claim – they aren’t thinking of that)

(2) P has an inherent advantage in choosing the forum – preclusion forces them to bring claims where they would prefer not to.

12. Neuborne’s theory of how issue and claim preclusion collide

a. Look at case 1 & 2 – is there a liability issue that depends on a common group of facts for resolution? (where the decision in one case would render the other automatic)

b. If so – when it seems to be the same issue in a series of litigations – it’s a strong candidate for a single claim 

c. (because both cases arise from the same facts and are determined by the same issue)

d. In most situations, what is driving a finding of a “claim” is that a single central issue unites both parts (case 1 and case 2) and is essential to a finding of liability in both cases.

e. Tip – what you do in the first case would cause the second case to be only for the purposes of deciding damages.

f. Identify the legal issue (negligence etc.) that is really being adjudicated in the first case – Is there a central issue that is at the core of both cases? 

VII.seq level1 \h \r0 

seq level2 \h \r0 
Claim preclusion resulting from partial defense


A.
Generally note 3 p.1205



1.
Should claim preclusion against case 1 defendants (who become case 2 plaintiffs) be read narrowly or broadly?




a.
Defendant loses choice of forum




b.
Defendant may wish to wait for favorable facts to develop.




c.
May have been impossible to secure the necessary evidence/witnesses at the time and place of trial



2.seq level3 \h \r0 
Underlying policy reason for defense preclusion is efficiency.



3.
Failure to preclude also destroys the plaintiff's sense of repose



4.
Ct. should take case 1 plaintiff’s and case 1 defendant’s interests into account

7. Ct’s have discretion in how to define the claim – so it’s likely that ct. will be more lenient in cases where the defendant in case 1 is now suing


(because they didn’t get to choose the forum and other reasons 


above)



13.seq level2 \h \r0 
Kirven v. Chemical Co. (1202)




a.
Facts

(1) Farmer buys fertilizer from Chemical company 


which destroys his crops.






(2)   Farmer refuses to pay for fertilizer.




b.
Case #1‑‑Chemical Co. sues for payment (K claim); farmer defends with 3 things, including fraud. Farmer withdraws fraud defense. Finding for Chem. Co.




c.
Case #2-‑Farmer sues for destruction of crops under Tort. 

 

d.
seq level3 \h \r0 Court allows the farmer’s suit to progress – issue of fraud 

     never adjudicated; ct finds that the sale of the fertilizer and 

the damage to the crop are 2 transactions/occurrences; ct says the Tort claim is a totally separate issue from the K claim.

            e. 
Ct. could have said – it’s all the same transaction/occurrence 

      – uses the same facts. Farmer should have brought the 

fraud claim in the first case. (efficiency argument)

            f.
Neuborne – judges are more lenient when defendant in case 

1 is the plaintiff in case 2 – not as likely that case 2 will be just a collection mechanism; 

(1) 
because - a whole new finding is still required. 

(like here – 1st case decides breach of K question with Kirvin saying you lied. This product really sucks. (The defense fails.) 2nd case litigates whether the product damaged the crops). (So the shield is different from the sword)

(2) 
Kirvin couldn’t have said that the product 

destroyed his crops in case 1 and then sued for destruction of crops in case 2 – because you can’t use something as a shield in one case and then later as a sword. (He’d be precluded – should have brought the counter-claim in case 1)

g. Under the liability facts theory used by the court, question 


hinges upon what was demonstrated in case #1.


C.seq level2 \h \r0 
O'Connor v. Varney (1225)



1.
Facts




a.
Varney contracts to build an addition to O'Connor's house.




b.
Case #1‑‑Varney (builder) against O'Connor for the entire contract price; O'Connor defends on substandard performance (O’Connor wins)




c.
Case #2‑‑O'Connor sues for substandard performance (relying on auditor who testified that the work had been so imperfectly done that it would require a greater sum than even the original contract price to make it correspond with the contract.



2. 
Liability finding in the first case is controlling in the second case so that case 2 is only a collection mechanism. (So case 2 should be precluded because of efficiency) 



3.seq level3 \h \r0 
Court rules that O'Connor is precluded from going forward

8.       O'Connor is precluded under a transaction theory and a liability 

facts theory.  The only facts that are different are damage facts‑‑defense preclusion makes sense.

9. Seems like it’s more just to be lenient toward a losing defendant who brings case 2 (than if defendant won and then sued plaintiff – that feels more like the plaintiff who sues defendant again and again)


D.seq level2 \h \r0 
Linderman Machine Co. v. Hillenbrand Co. (1920 at 1226) ( (


1.
Facts




a.
L sold H a machine




b.
Case #1‑‑L sues H for the purchase price; H defends on fraudulent misrepresentation as to the machine's capacity to do the work, and that H had notified L to remove the machine. H wins.




c.
Case #2‑‑H sues L for damages resulting from the fraud – costs incurred in transporting, installing, attempting to operate, and removing the machine.



2.seq level3 \h \r0 
Court rules that H is not precluded

3.
The facts needed to prove fraud in case 1 are different from the 


facts needed to show damages from fraud in case 2.

7. By finding separate transactions here, the ct. is able to allow case 2 (like in Kirvin)

8. (But really – case 2 is just a collection mechanism)

E. Migra v. Warren City School Board (1984 at 1276)

*Inter-system claim preclusion



1.
Facts




a.
P has state and federal claim against the school board.  




b.
Case #1‑‑P asserts state claims against school in state court 




c.
Case #2‑‑P asserts federal claims (Section 1983) in federal court

d.       P is claim precluded.

2. P argues that case 1 is about the date she was fired (without 


enough notice in breach of her employment K) Case 2 is about why 


she was fired (1st A claim)



3. 
It’s Rush all over again – the same transaction/occurrence was the nucleus of both cases; This shows how claim preclusion swallows (acts to preclude) issues that weren’t adjudicated in the first case



4.seq level3 \h \r0 
P argues that state proceedings shouldn’t have full claim preclusive effect, so P should be able to bring federal claims in federal court and state claims in state court.

a. b/c state claims are best decided in state courts (and federal questions in federal courts)

b. Ct chooses efficiency over this argument (doesn’t allow a narrow defn. of claim)



5.
Court rules claim preclusion concerns are more important




a.
Notions of comity (respecting the decisions of other ct’s)

(1) 1738 orders federal courts to give full faith and credit to state courts – so they should give full preclusive effect to state decisions

(2) (just like states have to give full preclusive effect to decisions of other states)




b.
Elimination of "vexatious" litigation




c.
Desire to conserve judicial resources



6.seq level3 \h \r0 
State court judgments have the same claim preclusive effect in federal court that they would have in the Ohio state courts

a. federal court asked to apply the claim preclusion rules of the 


state where it sat (the stat of case 1)




b.
Note that this has nothing to do with Erie‑‑which deals only with issues of federal courts sitting in diversity

6. P should have brought both claims in federal ct (using pendant jurisdiction to get the state claim in).

a. so supplemental jurisdiction is driven by the desire to avoid preclusion by getting all the claims in at once



8. 
Neuborne says – it’s hard to say both of these cases are part of the same claim – dift. Facts, dift pieces of paper, dift sovereignties that created the laws in q., dift law, dift mechanisms for enforcement


E.
seq level2 \h \r0 

seq level3 \h \r0 Cromwell v. County of SAC (1876 at 1207) – modern preclusion analysis



(still good law)



1.
Facts




a. County issues bonds. Cromwell had bond coupons that he wanted to cash in for payment




b.
Case #1‑‑Smith (agent of Cromwell) sues upon one bond loses




c.
Case #2‑‑Cromwell attempts to sue on 25 outstanding bonds




d.
Liability fact is whether the holder of the bond gave value



2.seq level3 \h \r0 
Where underlying liability facts are different, claim preclusion is unlikely.



3.
In the instant case, lack of claim preclusion makes sense only if Cromwell received the 25 outstanding coupon bonds at a different time or in a different manner than the original bond


H.seq level2 \h \r0 
Haring v. Prosise (1983 at D7)



1.
Facts




a.
Case #1‑‑Prosise pleads guilty




b.
Case #2‑‑Prosise sues in federal court for illegal search and seizure (1983 claim)



2.seq level3 \h \r0 
Prosise is not claim precluded as a result of his guilty plea




a.
Plea of guilty does not admit non-existence of liability facts important in the '1983 claim




b.
Allowing preclusion "would threaten important interests in preserving federal courts as an available forum for the vindication of constitutional rights."

VIII.seq level1 \h \r0 

seq level2 \h \r0 
Issue Preclusion


A.
Generally - Have to have all 4 of:

1. Was the issue actually litigated?

a. Have to be comfortable that the issue was actually brought up

b. (If not, P might run into a claim preclusion problem)



2.
Was the issue necessarily adjudicated?




a.
Could the verdict have been rendered without deciding the matter? (if not, implies it was adjudicated)

b. want to be sure that the adjudicator actually thought about the issue

c. sufficiently considered that we can close the book on the issue

d. ct. dicta is not preclusive – only the holding

e. Where there’s a special verdict – if the jury makes extra findings that are not necessary to deciding the case – these findings are not issue preclusive (like jury dicta) 

(If issues are necessary to the finding, they are issue preclusive.)

f. ( ambiguities in the scope of the holding are to be construed to deny preclusion


( Ability to construe parts of the holding as dicta allows 


issue preclusion to be broad or narrow

3.
Fair place to adjudicate

a. What type of forum is sufficient to make a valid final decision on the merits?

(1) a university hearing? (where the party may be under-represented)

4.Fair chance

a. can’t impose issue preclusion on someone who didn’t get a fair chance to participate in case 1 (Someone who WASN”T ABLE to participate – not someone who sat out on purpose)


B.seq level2 \h \r0 

seq level3 \h \r0 
Habeus Corpus exception to issue preclusion



1.
Facts




a.
Case #1‑‑Conviction in state court




b.
Case #2‑‑Federal review of legality of imprisonment



2.seq level3 \h \r0 
In the 1920's, Supreme Court announced that habeus corpus petitions are a general exception to issue preclusion



3.
How much preclusion should the state determinations have?




a.
D must exhaust all state remedies before going to federal court



4.seq level3 \h \r0 
"Special responsibility of federal courts to protect and enforce federal rights" (meaning habeas corpus)


C.seq level2 \h \r0 
Vasu v. Kohler (1211)



1.
Facts




a.
Case #1‑‑Vasu's insurer sued Kohlers for damage to Vasu's automobile and lost




b.
Case #2‑‑Vasu sued Kohlers for personal injury damage



2.seq level3 \h \r0 
Assuming Vasu is not claim precluded, what is the issue preclusive effect of first judgment?




a.
Traditionally‑‑no issue preclusion because no mutuality (not the same P and same D)





(1)
This assumes that there is no privity of representation between the insurer and Vasu.




b.seq level4 \h \r0 
Modern doctrine‑‑issue preclusion through defensive non-mutual collateral estoppel (meaning that the issue of Kohlers’ liability has been decided and he’s not liable. So no additional parties may force him to litigate that issue again)

seq level2 \h \r0 
E.
Russell v. Place (1212)



1.
Facts




a.
Russell has a patent for a specialized leather preparation process




b.
Case #1‑‑Plaintiff pleads infringement of patent and gets damages





(1)
Process 1 - boiling





(2)
Process 2 - tanning





(3)
Plaintiff wins under general verdict




c.seq level4 \h \r0 
Case #2‑‑Plaintiff pleads violation of patent for additional violations by D



2.seq level3 \h \r0 
P  is not issue or claim precluded because it is not clear which original fact was decided



3.
Classic example of general verdict based on alternative grounds (could be based on either or both of 2 possible issues – process 1 or 2)



4.
Rule – If the verdict is completely unclear (can’t tell what’s been decided) – no claim or issue preclusion



5.
If the same exact claim is made subsequently, does it matter of the general verdict was based on alternative grounds if defendant is engaged in the same exact activity?




a.
No‑‑Efficiency argument – don’t let P try it again b/c





(1)
It would be "logically impossibile" for D to win after either finding is made.



6.
Neuborne says – this is stupid – Something was decided in case 1 – shouldn’t it be preclusive somehow? Shouldn’t it be claim preclusive?

7. This rule gives rise to the special verdict – making sure that you always know what the jury decided (also gives jury a roadmap to help them figure out complicated cases) 

F. Hypo (Kelly v Curtis)

1. Facts

a. P sues D for negligence; D counter-claims for contributory negligence; General verdict for D. Ct. construes finding for D to imply both 1) no negligence on part of D and 2) negligence on part of P

b. Case 2 – D sues P for contributory negligence (saying that ct found P negligent in case 1 – so now show me the $)

2. P’s attorney tries to say claim preclusion – you should have asked for damages in case 1

3. (Neuborne says should be precluded because case 2 has the same central controlling issue; same underlying facts; allowing D to use this argument 1st as a shield, then as a sword;)

Note – even having special verdicts and not having to deal with this issue – still need to consider actual and necessary adjudication (when deciding whether jury’s decisions will be preclusive)


F.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Rios v. Davis


1.
Facts




a.
Case #1





(1)
X sues Davis for negligence and Davis counter-claims for contributory negligence (13a)





(2)
Davis also brings in Rios as a 3rd party D (rule 14a) (claiming negligence)





(3)
Jury finds all three are negligent






(a)
X cannot recover against Davis






(b)
Davis cannot recover against Rios




b.seq level4 \h \r0 

seq level5 \h \r0 
Case #2





(1)
Rios sues Davis for negligence



2.seq level3 \h \r0 

seq level4 \h \r0 
Davis claims Rios is issue precluded based on the jury's finding that Rios was negligent



3.
Court rejects this on the basis that finding Rios negligent was not essential or material to the underlying judgment. (b/c in case 1 – the Davis v. Rios claim – Davis’ negligence caused him to lose – Rios’ negligence not necessary)



4.
Also, note that Rios was found not liable in case 1 so he could not appeal the finding of negligence against him. 




a. This is a good indicator of whether an issue was necessarily adjudicated – whether the person had a chance to appeal


G.seq level2 \h \r0 
Haring v. Prosise (1983 at D7)



1.
Facts




a.
Case #1‑‑Prosise pleads guilty




b.
Case #2‑‑Prosise sues in federal court for illegal search and seizure (1983 claim)



2.seq level3 \h \r0 
Prosise is not issue precluded because the legality of the search was not adjudicated as part of Prosise's guilty plea.



3.
Guilty plea is issue preclusive as to the elements of the crimes plead guilty to

Issue preclusion Q - What is full and fair adjudication?  ​(

H.seq level2 \h \r0 
Allen v. McCurry (1980 at 1272)



1.
Facts




a.
Case #1





(1)
McCurry was convicted of heroin possession





(2)
At pretrial suppression hearing, trial judge allowed some evidence in, implying that the police search was constitutional; (Kim gets a big (!) 




b.seq level4 \h \r0 
Case #2‑‑McCurry sues cops in federal court for illegal search and seizure wanting damages (1983 claim – which gives federal courts jurisdiction over civil rights claims) – jury trial



2.seq level3 \h \r0 
Court takes as given that suppression hearing litigated the issue.

4. '1983 does not expressly provide an exception to issue preclusion (the way that habeas corpus does)

5. Claim preclusion – no b/c he couldn’t have brought a claim for damages in criminal court

6. Issue preclusion

a. Here

(1) pro – prisoner had a full and fair opportunity in the 1st trial to argue the illegality of the search. He lost. The ct. obviously decided the issue in deciding to admit the evidence.

(2) anti – case 1 is before a judge and case 2 is before a jury, the fact-finding process is totally dift; fairness: in 1st case, D would have a public defender where he could have a high-powered ACLU attorney in the 2nd case; Liability issue was not actually litigated

7. 2 main points

a. Issue preclusion jumps sovereignties; state finding binds in federal ct and vice versa

b. A judge’s finding can be preclusive on a later jury trial

I. McCurry variant 1

1. prisoner wins motion to suppress (so search was illegal)

Case 2 – prisoner wants to go after the cops for damages using the finding from case 1

2. Cops would claim they weren’t a party in case 1 and didn’t have a full and fair opportunity to defend;

3. Cops would probably win  - so that: if prisoner lost motion to suppress, he’d be precluded from bringing case 2; if prisoner won, he’d have to relitigate in case 2 (so he gets the harm of preclusion but not the benefit)


J. Variant 2

1. If guy didn’t bring the motion to suppress at all

2. Issue preclusion? – no. no actual adjudication

3. Claim preclusion? No – he wasn’t obligated to raise the issue in case 1 – he couldn’t have made the damage claim at all


K . Variant 3

1. If guy brought the motion to suppress but pleaded guilty before it was decided

2. No preclusion 


Note: pleading guilty is not a concession that his future claims fail – does not 


have preclusive effect on later claims.

IX.seq level1 \h \r0 

seq level2 \h \r0 

seq level3 \h \r0 
Issue preclusion and administrative agencies


A.
Generally



1.
Benefits of administrative proceedings




a.
Low cost





(1)
But administrative courts will begin to resemble other courts as greater due process requirements are imposed




b.seq level4 \h \r0 
Expedited review




c.
Expertise through practice (many of the same cases) 



2.seq level3 \h \r0 
Appeals




a.
What is the standard of review of a administrative hearing





(1)
Review might not be de nuovo 





(2)
Review tend to be highly deferential to ALJ




b.seq level4 \h \r0 
Preclusive effect of administrative decision on federal rights





(1)
If the decision is not reviewed by a state court, decision has no preclusive effect





(2)
Title VII actions‑‑none; review is de novo





(3)
42 U.S.C. '1983 claims‑‑all; review is possible only where parties lacked a full and fair opportunity to litigate the issues



4.seq level3 \h \r0 

seq level4 \h \r0 
"Nightmare" scenario is where P wins on '1983 claim in administrative hearing, but is reversed by an appellate state court.  No possibility exists for federal review.



5.
After Kremer, why would anyone want to go to an administrative hearing – b/c on review, its decisions are treated very deferentially - ? Why not go straight to ct so you have a chance for better appeals -?


B.seq level2 \h \r0 
University of Tenn. v. Elliot (1986 at D12)



1.
Facts




a.
Black employee was discharged from his job.  University claimed his work performance was inadequate; employee claimed University was guilty of racial discrimination




b.
Case #1‑‑Elliot claims racial discrimination in a University Administrative hearing, appeals it within the University system. Loses.




c.
Case #2‑‑Elliot sues in Federal court for violation of Title VII and 42 U.S.C. '1983.



2.seq level3 \h \r0 
Title VII claim




a.
Court finds that state administrative proceedings have no issue preclusive effect unless reviewed by an appellate court




b.
Title VII claim is treated differently because "the legislative history of Title VII manifests a congressional intent to allow an individual to pursue independently his right under both Title VII and other applicable state and federal statutes" n.5 at D15



3.seq level3 \h \r0 
42 U.S.C. '1983 claim – treated like any other statutory claim




a.
Court finds that "when a state agency . . . resolves disputed issues of facts which the parties have had full and fair opportunity to litigate, federal court must give the agency's factfinding the same preclusive effect to which it would be entitled in the State's courts."  28 U.S.C. '1738


C.seq level2 \h \r0 

seq level3 \h \r0 
Kremer v. Chemical Constr. Corp (1982 at 1277)



1.
Facts




a.
Employee claimed he was discharged because of discrimination




b.
Case #1





(1)
Kremer claims discrimination in a New York State Division of Human Rights hearing and loses. (he had a choice – administrative hearing is cheaper and faster)





(2)
Kremer appeals to state court and loses again.




c.seq level4 \h \r0 
Case #2‑‑Kremer files a Title VII claim in federal court



2.seq level3 \h \r0 
Once an administrative agency's findings are reviewed by a state court, the findings are entitled to full issue preclusive effect in federal ct.as per 28 U.S.C. '1738.

3. When you enter the judicial system for review of an administrative finding, it’s treated as though you had started in the system.

4. (You could only relitigate the issues in federal ct. if there was reason to doubt the quality, extensiveness or fairness of the procedures followed in the state ct. action. (1278)

5. IF you don’t appeal the administrative finding to state ct. and take it straight to federal ct for review – the federal ct must give the finding the preclusive effect that the state ct. would have. (some agency’s findings are preclusive, some aren’t – depends on how close it was to a real hearing)

F.seq level2 \h \r0 
United States v. Mendoza (1984 at D20)



1.
Facts




a.
Filipinos claim that no notice was given to them about the possibility of naturalization to the U.S. before application period expired (1946)




b.
Case #1





(1)
68 Filipinos v. U.S.





(2)
Filipinos win, but Carter administration elects not to appeal because they are sympathetic with the plaintiffs




c.seq level4 \h \r0 
Case #2





(1)
69th Filipino v. U.S. (now under the Reagan Admin.)



2.seq level3 \h \r0 

seq level4 \h \r0 
Plaintiff attempts to use offensive non-mutual collateral estoppel (you lost before so you cannot contest our chance to apply for citizenship, even though we weren’t parties to original case)



3.
Court rules that offensive NMCE is not applicable against the U.S. government




a.
Offensive NMCE would allow Presidential Administrations to create a private body of law through strategic failure to appeal




b.
Government would have to appeal every single case, (Otherwise nonmutual parties would benefit from previous litigations and preclude the government from contesting)

c. Government cases do not lend themselves to efficiency – efficiency is not as important as getting it right

d. Want the system to be dynamic and not freeze the common law



4.seq level3 \h \r0 
What about defensive non-mutual collateral estoppel?




a.  If the US had won, the 2nd claim still wouldn’t have been precluded (at common law) b/c there was no mutuality (dift parties)



5.
Costs of prohibiting offensive NMCE to the government(SSA)




a.
More litigation




b.
Extremely harsh rule as applied against weak plaintiffs, who have no resources to sue and to get stare decisis applied





(1)
Case #1‑‑P1 v. SSA‑‑P1 wins (doesn’t matter whether SSA appeals)





(2)
Case #1‑‑P2 v. SSA‑‑SSA can deny benefits (if they think P2 can’t afford to sue) because offensive NMCE does not apply to gov’t. (Mendoza) – so each P would have to relitigate the issue.






(a)
If P2 has the resources to appeal, he can take advantage of stare decisis. (b/c the court will find the same way as they did in case 1 – based on precedent) 

(b) If they don’t have the resources, the govt. can just deny them benefits, knowing they won’t be forced to pay.

6. Benefit of class-action against the govt. (and generally)

a. you don’t want to have to go against the govt. over and over for each P to recover – want to get everyone in there at once;

b. Also, benefit to govt – b/c they don’t want to have to win again and again

7. This is consistent with Neuborne’s idea of looking ahead to case 2 to see if it would be unfair – here, case 2 could be unfair to disadvantaged P’s (b/c they couldn’t bring the case at all) (and forces them to relitigate issues that have already been decided in favor of other P’s

8. Before – administrative agencies would refuse to pay the judgement until appeals were exhausted – squeezing P’s who couldn’t afford to pay while waiting out the appeals – Now, there’s a rule that ct. makes agency pay the judgement in the interim (and if they win their appeal, they can get a refund) 

X.
seq level1 \h \r0 

seq level2 \h \r0 Issue preclusion:  Traditional mutuality


A.
General rules of mutuality



1.
In order for preclusion to apply, each party has to be equally at risk (i.e. present) in the original case



2.seq level3 \h \r0 
POLICY




a.
Fairness‑‑mutuality equalizes the risk of loss between parties.  Without mutuality





(1)
P1 v. D; if D loses, D would be liable to many Ps





(2)
P v. D1; if P loses, P would lose ability to sue other Ds



3.seq level3 \h \r0 

seq level4 \h \r0 
Due Process requires that a party have their day in court before preclusion holds


B.seq level2 \h \r0 
Ralph Wolff v. New Zealand Ins. Co. (1933 at 1258)



1.
Facts




a.
P's candy factory burns down.  P insured the factory for $19,500 with 11 different insurers.




b.
Case #1





(1)
P sues 9 different insurers (representing $14,500 of total coverage)





(2)
P's loss is ruled at $2,500.  P's recovery from the 9 insurers is $1,858.90




c.seq level4 \h \r0 
Case #2‑‑P sues remaining 2 insurers (representing $1,000 of coverage)

2. 2 insurers argue claim preclusion

a. They try to claim that they are in privity with each other b/c they’re insuring the same thing – so P should have sued them all together

b. Not a good claim – b/c each of the policies is a separate claim (P isn’t forced to sue on all the policies at once)



3.
Insurers also claim P is issue precluded from claiming more than $2,500 of property damage (b/c the amount of damages was decided in case 1).




a.
If so, than each insurer would be responsible for only $128.20




b.
They say the issue of P’s loss has been necessarily adjudicated in a full and fair judicial proceeding.



4.seq level3 \h \r0 
Court rules that P is not issue precluded because of lack of mutuality.




a.
"To bind the plaintiff, the defendant must also have been bound, for an estoppel is always mutual"




b. D10 and D11 wouldn’t have been bound by case 1 – they can’t be held to that damage finding (for P to use to recover a big judgement) (and they also can’t use it to say “we only have to pay $100” – so P also shouldn’t be bound


C.seq level2 \h \r0 

seq level3 \h \r0 
City of Anderson v. Fleming (1903 at 1237)



1.
Facts




a.
Woman fell into a pot hole




b.
Case #1‑‑P sues contractor and loses




c.
Case #2‑‑P sues the city and city argues issue preclusion (b/c the issue of the contractor’s liability is the same as the city’s)

2. Ct allows preclusion here – b/c they don’t want to allow a situation where city could lose and then sue the contractor to get indemnified (after the contractor already won case 1) (when the issue of liability is the same in cases 1 & 2 – don’t want to allow inconsistent adjudications because that would lead to an unfair indemnity case)



3. P is issue precluded to prevent an unfair result arising from inconsistent 





adjudications.  Example:




a.
Case #1‑‑P v. D1‑‑D1 wins




b.
Case #2‑‑P v. D2—D2 loses




c.
Case #3‑‑D2 v. D1 (for indemnification for D2’s loss) —possibility that D1 will lose the indemnity suit, even though he was found non-negligent in case 2

4.Point- even in common law, they accepted the indemnity circle as an exception to the mutuality requirement

XI.seq level1 \h \r0 

seq level2 \h \r0 

seq level3 \h \r0 
Issue preclusion:  The fall of mutuality


A.
Generally



1.
Creates incentive to settle case #1 (you don’t want to have an official ruling and risk being precluded later)



2.
Defensive non-mutual collateral estoppel (U of I plaintiff scenario)




a.
Gives P strong incentive to join all potential defendants in the first action; or




b.
Give P strong incentive to





(1)
Find the weakest D 





(2)
Litigate "harder" because P has more at stake; a loss will foreclose any further actions 



3.seq level3 \h \r0 

seq level4 \h \r0 
Offensive non-mutual collateral estoppel (used as a sword)




a.
Is available only at the discretion of the court (Parklane)




b.
Conserves judicial resources‑‑efficiency




c.
Gives P2 strong incentive to adopt a wait and see attitude with respect to P1





(1)
If P1 wins, P2 uses offensive non-mutual collateral estoppel






(a)
Even if court denies use of offensive NMCE, P2 still has benefit of stare decisis





(2)seq level5 \h \r0 
If P1 loses, P2 uses due process and argues necessity of having their day in court




d.seq level4 \h \r0 
P's forum benefits and biases create too much power when coupled with offensive estoppel




e.
Possibility of being blindsided‑‑did the defendant know the true risk of loss?



4.seq level3 \h \r0 
What happens if the first case is decided wrongly?




a.
Is this an argument against lack of mutuality, or against preclusion alltogether?



5.seq level3 \h \r0 
Inter-circuit conflicts – See mendoza – do we have this already?




a.
First Circuit





(1)
US v. GM‑‑GM





(2)
US v. Chrysler‑‑Chrysler




b.seq level4 \h \r0 
Second Circuit





(1)
US v. Ford‑‑US





(2)
US v. GM‑‑?






(a)
GM has mutual estoppel and issue preclusion on its side






(b)
US has stare decisis on its side






(c)
Burt thinks that stare decisis trumps mutual estoppel


B.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 

seq level5 \h \r0 
Bernhard v. Bank of America (1942 at 1262)



1.
Facts




a.
Decrepit woman signed the balance of her account to caretaker




b.
Case #1





(1)
Caretaker/Administrator filed an accounting (wanting it declared that he dispersed all the assets properly and that all future claims against the estate should be barred)





(2)
Bernhard objected to the accounting alleging fraud (that caretaker took a bunch of $ out of the lady’s account previously) but lost




c.seq level4 \h \r0 
Case #2‑‑Bernhard sues Bank alleging that bank was not authorized to transfer funds



2.seq level3 \h \r0 
Bank asserts that Bernhard is issue precluded by the probate ct’s judgement that caretaker did everything right.  Bernhard counters with lack of mutuality (b/c bank wasn’t a party to case 1 – they could never be burdened by the 1st judgement so they shouldn’t be able to benefit from it).



3.
Judge Trayner abolishes mutuality




a.
"The courts of most jurisdictions have in effect accomplished the same result by not requiring mutuality where the liability of the defendant asserting issue preclusion is dependent upon the liability of one who was exonerated in an earlier suit brought by the same plaintiff upon the same facts" (1264; See City of Anderson)



4.
Ct. allows defensive nonmutual collateral estoppel – Ct construes the facts of this case to satisfy the 3 point test below; Ct tries to make this case into an indemnity circle case; (which would be where there’s a possibility of case 2 – bank loses and case 3 bank vs cook (where cook could lose and be forced to pay, even though he won case 1))

5.   3 questions for determining the validity of an issue preclusion claim

a. Is the issue in the present action identical to the issue adjudicated in the 1st case?


( here, ct says the issue in cases 1&2 is - who owns the 



money?

b. Was there a final judgement on the merits?


( Here, yes – probate ct says the $ was a valid gift to cook

c. Was the party who is the target of preclusion a party or in privity with a party to the 1st case?


( Ct. says that the P is the target of preclusion here – P was 



a party in case 1. 

So preclusion against P is fair.

5. Neuborne’s analysis

a. Is there a risk of an unjust case 3? (Q for deciding whether to relax mutuality requirement for defensive non-mutual collateral estoppel)

(1) unjust case 3 – Cook found not liable in case 1 (then bank loses case 2 ) then cook found liable to bank in case 3

(2) Sounds like indemnity circle from Anderson BUT!

Neuborne says that cook and bank are not in privity with each other (in the way that the parties in Anderson were)


( The liability of one does not necessarily determine the liability of the other


( Here, if bank was liable – then Cook is also; but Cook could be liable while the bank is not.   

(3) Not requiring mutuality here is fair because there’s no risk of unfairness to P (b/c cook’s lack of liability indicates the bank’s lack of liability)

(4) This is more efficient because it prevents a pointless case 2 (outcome was already determined by case 1)

b. Point here! You can use defensive nonmutual CE against a person who has had a day in ct, even though you weren’t there. So you can win by that. (You can’t lose, though, because you can’t have nonmutual CE asserted against you when you weren’t there)


C.seq level2 \h \r0 

seq level3 \h \r0 
Blonder-Tongue Lab. v. U. of Ill. Found (1971 at 1243)



1.
Facts‑‑the IBM plaintiff




a.
Case #1





(1)
U of I v. D1 on patent infringement





(2)
D1 wins because patent is void




b.seq level4 \h \r0 
Case #2—U of I v. D2 on infringement of same patent



2.seq level3 \h \r0 
Defensive non-mutual collateral estoppel is just peachy




a.
Justification is efficiency. (and concern over small D’s being bullied by big P’s – who have the resources to sue again and again- and pressure them to settle) 




b.
No compelling reason why plaintiff should have more than one full and fair opportunity to litigate the same exact issue (by merely switching D’s). 

c. Expands the idea of D – NMCE to situations other than indemnity circle (not one here b/c there’s no possible case 3)

----Beginning of Offensive NMCE----



Defn. P seeks to estop a D from relitigating the issues which the D 




previously litigated and lost against another P (Parklane)


Problems w/ O-NMCE:

1. Ct’s are reluctant to allow offensive – NMCE – when there are many P’s; Don’t want P’s to sit out and wait for a favorable decision – and then come in and try to use that judgement to collect (if ct detects that this is happening – they won’t allow O-NMCE.) (allowing O-NMCE in this way doesn’t promote efficiency- letting people wait and see) (Parklane)

2. If the damages are only nominal in case 1, the D will not defend as vigorously – so you don’t want to hold D to a loss in later cases with high $ damages at stake.

3. What if there’s an anomalous decision like case 50 – can the rest of the P’s benefit from the crazy decision? Also, what if the anomalous decision is case 1 – then can all the P’s recover when they really should lose? (makes ct. more careful about O-NMCE) (Parklane)

4. Unfairness to D where a 2nd action might give them better procedural opportunities – which could cause dift results (b/c it’s a more convenient forum and the witnesses can get there etc.) – Seems really unfair to estop D and hold them to the 1st decision where they didn’t get to pick the 1st forum and might have a better chance in another one.


Ways to address this problem

1. force a class-action

2. make all the P’s choose their best case and go forward with the best D case vs the best P case.


D.seq level2 \h \r0 

seq level3 \h \r0 
Parklane Hosiery v. Shore (1979 at 1245)



1.
Facts




a.
Parklane issues misleading proxy statement




b.
Case #1‑‑SEC sues Parklane and gets injunctive relief – to prevent Parklane from circulating false info to stockholders (declaratory judgement that proxy was misleading)




c.
Case #2‑‑Stockholders sue Parklane for damages – saying Parklane should be issue precluded



2.seq level3 \h \r0 
Supreme court rules that "offensive" NMCE is at the discretion of the trial court. (1247) Trial court should not allow offensive use if:




a.
P could have easily joined case #1; or




b.
Application would be otherwise "unfair" to defendant (1247)



3.seq level3 \h \r0 
Majority discounts importance of a jury trial (see #4 above – unfairness to D because of procedural difference – bench vs. jury trial – cts see this difference as “neutral” - hmmmm)




a.
Consistent with the Court's approach in Byrd v. Blue Ridge? (b/c Byrd also says that it’s not necessarily true that a judge will come up with a dift decision than a jury; Here, ct. differentiates between judge vs. jury trial (case 1 vs case 2) and being in an inconvenient forum in case 1)



4.seq level3 \h \r0 
Note that in Parklane, plaintiffs were statutorily barred from joining case #1. (b/c only the SEC could have brought that action – it was a regulatory action) (so fence-sitting – wait and see idea - not an issue here b/c P’s couldn’t get in)

5. Not seen as unfair to use O-NMCE here because they had every incentive to defend vigorously here (could foresee future litigation as a result of a liability finding in case 1)

6. Also, 1st decision wasn’t an anomaly (dumb argument b/c it’s the only case)

7. And ct. discounts unfairness to D argument (see #4 above) by saying that there’s no big procedural difference between a judge and a jury trial.



8.
Even where judge denies use of offensive NMCE, stare decisis may still have probative value.(Even when the previous decision is not allowed to be binding – ct’s still will defer to the previous case b/c it’s precedent)

8. nolo contendre - B/c of this, when the SEC questions a co.’s statements – they will want to just give in (plead no contest) – they don’t want a declaratory judgement entered against them, which later P’s can use to collect damages.


E.seq level2 \h \r0 
Montana v. United States (1979 at 1258)



1.
Facts




a.
Montana taxes payments from U.S. to contractor (who’s working on a federal project) Construction contractor is encouraged to sue Montana by the U.S., who is under contract to reimburse contractor for such taxes (U.S. funds 1st case)




b.
Case #1‑‑Contractor sues Montana alleging unconstitutionality of the tax.  Contractor loses.




c.
Case #2‑‑U.S. sues Montana on the same grounds



2.seq level3 \h \r0 
When nonparties assume control over litigation in which they have a direct financial or pecuniary interest, they may be precluded from subsequently relitigating issues that the earlier suit resolved.



3.
"Although not a party, the U.S. plainly had a sufficient laboring oar in the conduct of the state-court litigation to actuate principles of estoppel"



4.
U.S. is the real party in interest in case #1, and is therefore bound by direct estoppel/mutual preclusion.



5.
see rule 17a at XIII, M


G.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 

seq level5 \h \r0 
In re Multidistrict Civil Actions (1978 at 1254)



1.
Facts




a.
Air crash between TWA aircraft and a Tann Company Aircraft – lots of victims

c. B/c the actions were taking place in many dift. districts, the Panel on Multidistrict Litigation (created by Congress to deal with these situations – one transaction, many P’s in many places) is petitioned by the attorneys to pick a single district to do all of the pre-trial proceedings. 

- The cases were filed in dift places – Erie says you still have to use the local law of those places for the cases themselves but you can move the pretrial stuff  




b.
After discovery, panel appointed one lawyer to try the case against TWA and TANN Co. as co-defendants.(Ct wants the best lawyer and best case for P to go first against D)




c.
Case #1





(1)
Best P case v. TWA & TANN





(2)
Judgment against TWA for $300,000





(3)
Judgment for TANN against best P case




d.
Other P’s come in using O-NMCE to recover against TWA (and are allowed to do it – not unfair b/c D knew they were fighting the best case; knew the consequences; Other P’s weren’t sitting out – b/c it was agreed in advance)




d.seq level4 \h \r0 
Case #2—P who didn’t join the panel against TANN



2.seq level3 \h \r0 
TANN argues for defensive NMCE against that P

a. P (Humphrey) argues that he wasn’t present in case 1 – not fair to find against me without letting me have my day in ct.



3.
District Court agrees




a.
Says no Fundamental unfairness (in allowing preclusion)





(1)
Lawyer was selected by panel, argued the case well, and proceeded on behalf of a sympathetic plaintiff





(2) 
Humphrey had a chance to be in on the discovery 





(3)
It would be unfair to TANN, who was willing to allow the first action to be preclusive




b.seq level4 \h \r0 
Efficiency 

(1) Where liability issues have been fairly and truly tried 


in a prior action, don’t want to allow relitigation



4.seq level3 \h \r0 
Sixth Circuit reversed on Due Process grounds—finding that H didn’t have his day in ct. through case #1 (didn’t participate in all of the pretrial discovery)‑‑TRUE?

a. Point that ct’s are not likely to allow D – NMCE against people who didn’t have a full and fair opportunity to have their day in ct.



5.
Would this case not be a prime candidate for class action?


H.seq level2 \h \r0 
Martin v. Wilkes (1989 at 1259)



1.
Facts




a.
Case 1 - Black Firefighters sue City for discrimination in promotions, settled by consent decree (city agrees to restructure its policies)

· Toward the end of the proceeding, white firefighters try to intervene and are excluded 

· Case 1 is settled, not actually adjudicated (so there can’t be issue preclusion in case 2)




c.
Case #2‑-White Firefighters sue city for "reverse discrimination"; (because they weren’t allowed to intervene, they couldn’t appeal the judgement so they’re stuck with the decree if they can’t sue)



2.seq level3 \h \r0 
City argues that white firefighters should be claim precluded (argument for compulsory intervention – they should have gone in at the beginning of case 1) because




a.
They had notice and opportunity to be heard at the consent decree hearing (and they chose to fence-sit instead) 





(they could’ve brought their claims at the beginning and didn’t)




b.
Failure to find preclusion will be burdensome and discouraging to civil rights litigation





(1)
Potential adverse claimants may be numerous and difficult to identify





(2)
City may be left with inconsistent obligations (through inconsistent verdicts)





(3)
Parties in original actions will have less incentive to settle (b/c their settlement won’t be binding)(more opposing interests will be represented)



3.seq level3 \h \r0 

seq level4 \h \r0 
Court finds no claim preclusion




a.
Parties to the action are better able to tell who their actions will affect




b.
Due process concerns‑‑white firefighters' interests were in no way "represented" by simple notice of a consent decree hearing

b. Notice is not enough – ct is not willing to impose preclusion on someone who wasn’t there in the 1st case;

c. Seems unfair to drag the white firefighters into the case because they don’t want to be in case 1 (don’t want to be bound by a full judgement) and the black firefighters didn’t want them in (they just wanted the settlement); 



4.seq level3 \h \r0 
After Martin, if you want to stop someone from being a hoverer, sue them. (gets into issues of joinder (19) and intervention (24) – where intervention is always optional)

XII 
Motion Practice

A. The process

1. Event takes place – Statute of limitations starts running

A. State’s S of L reflects the state’s feeling as to the importance of dift claims (the more impt the claim – the longer the S of L)

B. Point of S of L 

(1) to ensure accuracy of evidence

(2) to bring closure

C. Neuborne asks – when should the S of L begin to run? (at the act (production of boiler) or the injury (explosion)?

(1) varies by state

(2) we say – should begin at the injury – the act could have happened years ago so that when the injury happens, the S of L could have run out

2. Formal commencement of dispute resolution

A. Dispute resolution OR

B. Go to ct.

(Start court process:)

3. File complaint

A. State relief you’re seeking

B. identify the parties

C. assert jurisdiction 

D. name incidents at issue (narrative)

E. state causes of action

F. request a jury (if you want)

(1) If you don’t, you risk being seen as having waived the right

G. Purpose

(1) to give notice to the other parties

(2) to make allegations/set out theories of recovery (that you may not be able to prove at the time – “information and belief”) – so that you may then do discovery on this stuff (broad pleading rule)

H. What constricts this system

(1) Rule 11a – every motion or pleading has to be signed by at least 1 attorney (or if there’s no counsel – signed by a party)

(2) Rule 11b – when you turn in a signed pleading, you are asserting that your intention is not to harass and that you have valid claims supported by evidence

(3) Rule 11c – after you have signed the pleading – attorneys may be sanctioned if it turns out that they filed a frivolous complaint; Purpose is to deter such conduct; Opposing counsel can make a motion or the judge can take the initiative to sanction

4. Notice is given

(At this point, either P or D can ask for an injuction under Rule 65)

(1) Rule 65a – preliminary injunction


a.    to get emergency relief

· to maintain the status quo

· or to make someone stop doing something now
b. party files the motion – injunction does not begin at this point

c. judge issues an Order to Show Cause (saying why the injunction shouldn’t be granted) – triggers an injunction hearing within several days (can be ex parte – so that it can be issued without D present)

d. injunction hearing 

1. 65a(2) ct has option of consolidating a trial on the merits with the application for the preliminary injunction (so ruling on the injunction = the final ruling if that’s all the movant wants) (accelerating the case)

· incentive for P to come in with lots of evidence and force the D to fight before they’re ready

· unfair b/c P has lots of time to get ready before filing

2. Granted based on balance of considerations

· immediate irreparable harm

· movant is likely to succeed at trial

· effect on public interest

· clean hands (movant didn’t cause the emergency)







3.   injunction may be issued

· can’t be issued without notification of the other party (rule 65a(1))

· denial of injuction – appealable to the circuit ct. (inter-locutory appeal)  






4.  preliminary injunction often triggers settlement 

(2) Rule 65b – Temporary restraining order leading to preliminary injunction

a. for real emergency – immediate action needed to prevent injury, loss or damage 

b. will typically be ex parte (judge likes it if you have notified the other party)

c. TRO may be issued (can only last 10 days)

1. If it’s issued ex parte – a hearing is scheduled for 


within 10 days

d. Judge issues an Order to Show Cause (giving notice)

e. (w/in 10 days hearing) – serves as a preliminary injunction hearing

 

(At this point D can file Rule 12b,e & f motions)

(1) Rule 12a – sets time limits for responding to the complaint (if you’re going to)

(2) Rule 12b – lays out defenses you can make by motion


12b(1) – lack of subject matter jur.

2)– lack of IPJ


        3) – improper venue


        4) – insufficient of process (eh?)


        5) – insufficiency of service


        6) – failure to state a claim on which relief can be 




granted (summary judgement)


        7) – failure to join a party under rule 19

NOTE – unless you raise 12b objections, you risk waiving them (except subject matter, which can never be waived)

(3) If 12b motions cause dismissal, you can appeal

(4) If 12b motions are just denied, you CAN’T appeal

5. Defense counsel files an answer or stays silent (their choice)


(Rule 12 motion may be made instead of an answer)

A. the Answer

(1) don’t have to say anything except to deny everything in the complaint

(2) compulsary counter-claims must be raised

(3) may raise technical defenses like lack of jurisdiction etc. (but that won’t get you a ruling)

(4) Point – just to give notice of D’s position – not to state every argument they’re going to make, necessarily



(At this point also D can file Rule 12b,e & f motions)

6. Discovery

A. US vs most other places

(1) they have to have all the facts before filing

(2) no discovery

B. 3 ways

(1) documented

a. requests for files etc.

(2) written interrogatories

(3) actual live examination before trial (depositions)

a. very effective

· If witness becomes unavailable, the depo can be used as their testimony (ex. they’re dying)

· Ability to talk to D under oath – forces binding answers (to attack credibility later)

· Pins the other side down to a particular story so that they can’t change it at trial

b. very expensive – so P may not be able to get all the useful info (people avoid actually answering interrogatory q’s through BS answers)

C. can take a long, long time

D. Point – so no one is surprised

7. Usually – serious settlement discussion happens

8. No settlement ( trial

9. Enforcement proceedings

10. Appeal/s


(Any time during discovery or after – either party can file a 56 motion)

1. Rule 56a – claimant (plaintiff or someone making a cross or counter-


claim) - can move for summary judgement at any time on any part 




of the case

· at least 20 days after the action is filed or right after D files a rule 56 motion

2. Rule 56b – defendant can move for summary judgement at any time on any part of the case 


Note –when 56 motions are before discovery – they’re very similar to12b

3. Rule 56c – 

· motion has to be served at least 10 days before the hearing

· can make a decision on just liability and then decide the damage later





    Given IF




- all the stuff on file shows that there is no genuine issue of 




          material fact 



         AND




- the moving party should get a judgement as a matter of 

law

4. Granting means that no reasonable juror could find any other way

(1) Judge is saying that the evidence is so strong or so weak that the existence of dispositive fact X is clear.

(2) so judge is taking the power away from the jury

(3) balanced against efficiency of not having a trial when its outcome is obvious

5. Other side can respond with a 7th Amendment motion – saying that only a jury can decide whether the dispositive fact X is true

6. Judges don’t like to grant 56 motions before discovery b/c they’re reluctant to say there’s no issue of fact without all the info

7. Denial of motion – interlocutory (before the final judgement) and unappealable
8. Grant of motion is appealable
(like 12b – if case gets thrown out – it’s appealable; if not, not appealable)

9. 12b(6) vs. 56 – both decide legal issues; 12b(6) doesn’t deal with the  facts. Just says – you haven’t even stated a claim at all; 56 says – all the facts are clear and one side should definitely win


(NOTE:


4 situations where the judge could take the power away from the jury:

1. 12b(6) 

2. 56 (see #4 above)

3. 50a – motion for a directed verdict (judge tells jury what to decide)

4. 50b – judgement N.O.V. – judgement notwithstanding the jury’s verdict (judge vacates the verdict and orders a new trial OR overturns jury’s verdict)

· If you want to ask for a 50b (N.O.V.), ask for a 50a 1st  or you’re seen as having waived both))


--------

5. Celotex Corp. Catrett
a. woman brings a lawsuit b/c husband died from asbestos exposure

b. D moves for Summary Judgement (56) b/c P failed to show any evidence of causation (and there’s no issue of material fact) – granted by Dist. Ct.

c. Motion approved by SC 

(1) movant for S.J. doesn’t have to prove/argue that there’s no issue of material fact – non-moving party has to show through the record that there is.

· Rule 56 directs the judge to look at the record to decide of there is an issue – parties do not have to provide additional evidence to prove that there isn’t one

(2) You can’t oppose a SJ motion just using the pleadings (assertions and denials)

(3)  You have to show through evidence in the record that there is a genuine issue

(4) If there are questions as to the credibility of evidence or of witnesses (as to the dispositive fact/s)– no S.J. should be granted (Neuborne)

(5) (remanded to decide of there was a genuine issue- using (1) above)

6. Anderson v. Liberty Lobby
a. Proving libel against a public figure requires proof of reckless indifference by clear and convincing evidence 

b. Q – what standard should judge use to decide whether to grant S.J. ? 

c. SC says – use the same standard as would be applied at a trial on the merits

d. So judge would ask “Could a reasonable jury find fact X (ex. reckless indifference) by clear and convincing evidence?”

e. Neuborne – isn’t that too hard for a judge to decide - too fine a line - ?

f. Judge doesn’t have to weigh credibility etc.


(credibility determinations, inferences from facts and 


weighing of evidence – jury functions)

      b/c the judge makes all inferences, weighs the evidence etc. in 

      favor of the non-moving party

(1) Amy says “not really true – to find S.J., the judge would 


almost always have to weigh the evidence and find 


that some evidence is credible)



Note – judge also applies the same standard as the jury would at trial – in 




deciding whether to direct the verdict



And – When letting in evidence, the judge can eliminate an expert if she 




thinks it’s junk science – this give more power to the judge than the 




old practice of letting in anything and letting the jury sort it out on 




cross


B. Juries

1. grand jury

a. only prosecutor can ask anything

b. used to bring indictments – almost always get them

2. no directed verdict in criminal cases

3. many places – civil jury is 6 / unanimous verdict

4. local criminal – 12 people / 9 of 12 for guilty (varies)

5. federal criminal – 12 people / unanimous

6. philosophy

a. hard fact jury – says juries look at issues objectively (so it doesn’t matter who it is as long as they try)

b. soft fact jury – says juries look at thing subjectively – affcted by their past experiences/background (so having a representative jury is impt)

7. Jury selection

a. preemptory challenges – jurors thrown off – lawyer doesn’t have to say why (lawyers get a certain #)

· may be challenged if there’s a pattern of strikes (a particular race etc.) Edmonson v. Leesville
· In the past – you could eliminate based on race or gender (supposedly to correct for too many white men)

· gender and race-based challenges no longer allowed 


Edmonson v. Leesville
b. challenges for cause – lawyer says why

c. Uses to be that the venire was almost all white men (b/c it was only registered voters and Jim Crowe laws helped eliminate blacks from voter pool)

d. Now the group is more representative of the community (so preemptory challenges aren’t a corrective measure – Instead, they are seen as potentially discriminatory)

8. Criminal trial – 6th A right to a jury

9. Civil case – 7th A right to jury (any time there’s a risk of jail time ( jury)

a. Rule 38 – you have to request a jury trial early (assert your right) – safest place is in the pleadings. (If you don’t request it, you could be seen as having waived)

b. Once a 12b has been made, you lose your right to ask for a jury

c. 7th A Right to jury
Note – 7th A does not apply in states – each has its own jury trial rules; So the jury decision presents an Erie problem

(1) entitled to a jury for things that would have gotten you a jury in common law ct (as opposed to equity ct.) in 1789 Britain

(2) 7th A text says – suits at common law where the value in controversy is more than $20, the right is preserved; (not equity cases – situations that the writ system didn’t address)

(3) And says - No finding of fact made by a jury may be reexamined by any ct.

(4) Neuborne says – the decision is remedy-driven; If you want money, you get a jury; 

d. Beacon Theaters v. Westover
(1) one party seeking an injunction and a declaratory judgement (both equity) and the other wants damages (common law; that party wants a jury trial)

(2)  If the injunction is decided 1st, the right to a jury trial is lost because the decision on the injunction is issue preclusive (so that there’s no issue left for the jury and the judge would decide damages, if any)

(3) SC says no – by allowing the equity decision 1st – 7th A right to jury is denied

(4) So instead, jury trial should be 1st and that decision should be issue preclusive on the decision of the judge

(5) This makes preliminary injunctions important b/c jury trials take a long time (so it would take a long time to get to equity ct.)

(6) The same ct. could try both parts, anyway (where judge in a jury trial deals with the injunction) 

e. Dairy Queen v. Wood
(1) Nationals want to stop this franchise from using their name; They think the business was stealing profits; They want an injunction (to stop use of the name) and an accounting (Calling it an accounting to make it look like an equity claim) 

(2) DQ is trying to make only equitable claims b/c they want to get in front of a judge (to avoid juries who are sympathetic to local businesspeople)

(3) Ct. says no. This is really a breach of contract – It goes to a jury. (an accounting is a sorting-out process between parties with a fiduciary relationship)

(4) Point being – you can’t try to dress your claim up as an equitable claim to try to avoid a jury

f. Curtis v. Loether  (p.936)

(1) Mixed case – P is asking for both damages and an injunction.

(2) Is a claim like this entitled to a jury trial? (when her claims are under the Fair Housing Act – which wasn’t in existence in 1789 Britain)

(3) P doesn’t want the case in front of a jury (b/c juries didn’t tend to enforce these acts)

(4) D wants to get a jury trial

(5) Real issue is – (not the historical approach) – if the statute creates the right to make a claim for damages, then the parties are entitled to a jury trial upon demand

g. Title 7 claims

(1) In the past, when P’s were asking for reinstatement and back - pay

(2) P’s would try to avoid a jury trial by saying that the back-pay is an equitable claim – it’s just incidental to the injunction claim

(3) Neuborne says –

· Now, more is going on with Title 7 claims – compensatory damages are being sought – and punitive damages – so these claims should all go to a jury

· After Curtis – it seems like the parties could get the back-pay issue in front of a jury

h. Tull v. U.S.

(1) There’s an act that prohibits the destruction of wetlands (not in existence in 1789) – providing for injunction actions and civil penalty damages

(2) Tull wants a jury trial – claims that the claim is like a 1791 action for debt;

(3) U.S. claims it’s trying to abate a public nuisance (like an equity claim in 1791)

(4) Judge says – who cares? You want damages? Go to a jury.

(5) Ct. says – jury trial for the liability issue and damages decided by the judge.

(6) Why?

· They’re treating this case like a criminal case b/c it’s a penalty imposed by the govt. against a person – and in a criminal case, the jury decides liability and the judge decides punishment 

*    Seems like they’re saying that judges better understand 


how Congressionally defined government penalties are to 


be applied – 

· or just that judges should be the ones to apply them (and jury shouldn’t be able to second-guess Congressionally mandated damage awards)

· Ct. here justifies by saying that the 7th A doesn’t extend the right to decide damages to a jury (We say – Fuck that noise!)



Note – a preliminary injunction isn’t issue preclusive on the jury trial;

i. Ross v. Berhard

(1) class action suit on behalf of shareholders – suing to get $ because management screwed up

(2) At common law – certifying the class and suing for damages would be 2 dift proceedings

(3) Now, this can all be done in one proceeding (get the judge to certify the class and then go on with the jury trial)

(4) At common law – shareholders suing management would be under equity because it involves a fiduciary relationship; Now, suing for monetary damages goes to a jury. The only thing that’s left of equity idea in these cases – having the judge certify the class

j. Conflict in the system

(1) system is moving away from equity – leaning toward letting claims go to juries 

(2) BUT – at the same time, there’s a move toward judges using summary judgement and directed verdict (taking power away from the jury)

k. Atlas v. OSHA
(1) OSHA finds some violations at Atlas and orders an administrative hearing (at OSHA)

(2) Atlas says they want a jury b/c they’re worried about the preclusive effect of the administrative hearing (If the hearing finds liability and workers later want to use the finding to recover against Atlas)

(3) SC – public rights (like here – safety) can be tried in administrative hearings but private rights (ex. tort etc.) can’t



Note: Tull idea vs. Atlas idea – After Tull, wouldn’t you think that a jury 




would get to find liability and the agency find damages?; Difference 




-  the administrative agency was created by Congress – It’s like in 




Tull – where Congress set damages and you shouldn’t let a jury go 




against Congress – In Atlas, you shouldn’t let the jury go against 




the Congressionally created agency (Kim’s one good idea)

l. Chauffeurs v. Terry
(1) Truck drivers sue the union saying they were being represented poorly; They sue for lost wages and loss of benefits and want a jury trial

(2) Union says no right to a jury b/c this is the type of fiduciary relationship that would traditionally get the case into an equity ct.

(3) There’s elements of both breach of contract (violation of their union contract) and also a breach of the fiduciary relationship 

(4) Ct says if the $ is from an accounting (for debt) – it’s equitable ($ you’re owed); If $ is in damages, it’s law for sure. (Ct. tends to construe claims as claims for damages) 

(5) What it comes down to – Ct. decides they want damages – so it goes to a jury

m. Galloway v. U.S.
(1) Is the judge’s power to direct a verdict in violation of the 7th A?

(2) (b/c the judge is taking the power away from the jury without  justifications like efficiency, avoiding expense etc. – the trial is over at this point)

(3) anwer - no

(4) Neuborne says – the reason for doing this? – seems like it reflects a distrust of juries

XIII.seq level1 \h \r0 

seq level2 \h \r0 
Joinder of Claims


A.
Analysis of any rule in general



1.
What would the answer have been in the absence of the rule in question?



2.
How does the rule expand or contract the pre-existing common law structure?



3.
Federal rules cannot expand subject matter jurisdiction because they are not statutes


B.
Rule 18‑‑Joinder of claims and remedies



1.
Rule 18(a)‑‑Joinder of claims‑‑is extremely broad; allows for as many theories/claims in one pleading as the parties want. 



2.
Exceptions to broad scope of 18(a): Still need an independent base of jurisdiction




a.
Subject matter jurisdiction (but think pendant jurisdiction 28 USC '1367 – which can help you)




b.
In personam jurisdiction 




(If there’s a place where you could have sued all the parties at once – you have to bring all the claims there or you’ll be precluded)



3.seq level3 \h \r0 
Rule 18 encourages you to bring a lot of claims – but if you don’t bring them all – you may be claim precluded later.





(the rule does not overrule common law claim preclusion)



4.
Rule 18(b)‑‑Joinder of remedies‑‑allows one claim to encompass both principle party and indemnitor




a.
Common law did not allow such joinder because indemnitor's liability did not exist until indemnitee's liability was established


C.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Rule 13(a)‑‑Compulsory Counterclaims‑‑purports to be the federal equivalent of the common-law preclusion rule.  A counterclaim is compulsory if:



1.
it arises out of the same transaction or occurrence as the subject matter of the opposing party's claim; and



2.
it does not require third parties over whom the court cannot acquire jurisdiction



3.
Rule 13(a) claims do not need an independant base of jurisdiction‑‑they are covered under supplemental jurisdiction, 28 USC '1367 (So if the original claim could get into federal ct., the 13(a) claims get pendant jurisdiction)




a.
13(a) claims are assumed to arise out of a common nucleus of facts (United Mine Workers v. Gibbs)



4.seq level3 \h \r0 
Divergent meanings of transaction and occurrence




a.
Broad reading encourages efficiency by allowing D to assert broad range counterclaims without requiring an independent base of jurisdiction




b.
Narrow reading ameliorates the harshness of claim preclusion ‑‑allows D to bring a subsequent action (by saying it’s not the same claim)




c.
Judges use this to preclude claims or not – when they want to 



5.seq level3 \h \r0 
Risk averse dynamic of 13(a) is to front-load counterclaims in order to prevent the preclusion of subsequent claims



6.
Beware! Beware! The common law volcano!!




a.
Claim preclusion




b.
Issue preclusion


D.seq level2 \h \r0 

seq level3 \h \r0 
Rule 13(b)‑‑Permissive Counterclaims (operates much like Rule 18)



1.
Any claim not arising out of the same transaction or occurrence (so no 1367 allowed)



2.
Permissive counterclaims need an independent base of jurisdiction


E.
Rule 13(g)‑‑Cross-claim against co-party

1. Parties may bring a cross-claim (suit against someone on the same side of the vs.)

2. Not compulsary; May be good strategy not to – (want to present a united front)

3. Must be part of the same transaction and occurrence of the 



original action or of a counterclaim‑‑therefore no 



independent base of jurisdiction necessary (1367 applies)



H.
US v. Heyward-Robinson (1970 at 587)



1.
Facts




a.
D'ag had two contracts with H (Navy Contract & Stelma Contract).  Both were NY corporations.




b.
Base claim 





(1)
D'ag v. H (Navy Contract)





(2)
Federal jurisdiction by Miller Act (which makes these claims Federal Q’s)




c.seq level4 \h \r0 
Rule 13(a) counterclaim





(1)
H v. D'ag (Navy Contract)





(2)
H v. D'ag (Stelma Contract)




d.seq level4 \h \r0 
Rule 13(a) counterclaim





(1)
D’ag v. H (Stelma Contract)




e.seq level4 \h \r0 
D'ag argued that H did not make necessary progress payments on both contracts.  H argued that D'ag did not keep requisite liability insurance for both contracts



2.seq level3 \h \r0 
For a claim to arise out of the same transaction or occurrence as another, it need only have a logical relationship with the other.



3.
Burt likes Heyward because the liability issue that controls both claims is identical 

a. therefore if you had 2 cases, case 2 would just be a 

     collection mechanism – so you should have to bring them 

     all at once (and if you don’t, case 2 should be precluded!)



4.
Cost of reading transaction and occurrence broadly is federalism (lets you bring a lot of claims in federal court)



5.
Does 13(a) expand the bounds of claim preclusion?




a.
Ct. is construing the transaction broadly here (lets all the claims come in under 13(a))– so it seems like all the claims in this broad area would have to be brought or they’d be precluded




b.
What is the likelihood that a fact adjudicated in the first case will be issue preclusive in the second?

c. Are there common liability facts between the two actions?

7. Note – if you’re going to be precluded in federal ct. later (must have been from the same transaction and occurrence) – means that you were not required to have an independent base of jurisdiction in case 1 13(a)

8. Point - 13(a) vs. 13(b) – 13(b) – not the same transaction and occurrence, (independent base of jurisdiction required) So it makes a big difference how you define transaction and occurrence 


I.seq level2 \h \r0 

seq level3 \h \r0 
Great Lakes Rubber v. Herbert Cooper Co. (1961 at 608)



1.
Facts




a.
Base claim





(1)
G v. C for violation of trade secrets





(2)
Jurisdiction is based on diversity




b.seq level4 \h \r0 
Rule 13(a) counterclaim





(1)
C v. G for malicious prosecution





(2)
(Claim would have an independent base of Jurisdiction - Sherman Anti Trust Act (fed Q))




c.seq level4 \h \r0 
C was successful in having G's action dismissed due to lack of diversity (G’s base claim dismissed)




d.
original 13(a) counterclaim (C v. G) becomes the base claim – and has to have an independent base of jurisdiction 




d.
Rule 13(a) counterclaim (made on the new base claim)





(1)
G v. C for violation of trade secrets





(Can come in b/c 13(a) counterclaims don’t need independent base of jur.)



2.seq level3 \h \r0 

seq level4 \h \r0 
Court rules that G's counterclaim is compulsory because it is an "offshoot of the same basic controversy" (means it has a logical relationship to the base claim – so it fits into 13(a) and needs no ind. base of jur.)



3.
Better to look at whether the counterclaim would be precluded if brought separately later and if so, it should be compulsory 


J.seq level2 \h \r0 
Possible measures for Rule 13(a) transaction and occurrence (595)



1.
Are the issues of fact and law raised by the claim and counterclaim largely the same?



2.
Would res judicata bar a subsequent suit?



3.
Will the same evidence support or refute plaintiff's claim as well as defendant's counterclaim?



4.
Is there any logical relation between the claim and the counterclaim?

4. (“transaction/occurrence” in 13(a), “claim” in claim preclusion and case or controversy in 1367 – mean basically the same thing)


K.  
Lasa v. Alexander (1969 at 601)



1.
Facts—see notes at 4/5



2.
Transaction and occurrence is given a broad and liberal interpretation in order to avoid a multiplicity of different suits‑‑only requirement is that a "logical relationship" exist between the cross-claims and the third party complaint, and the original action and the two pending counterclaims.

5. Intention – is to dispose of the whole controversy at once

6. But – leads to really complicated suits with lots of claims and counterclaims that take a long time to resolve



3.
Judge can use Rule 42(b) to separate claims – to allow the case to go forward without being unduly confusing to be  jury.



4.
What is the preclusive effect of facts at issue in the original claim?

7. Parties here use rule 14 to bring in a 3rd party D, which amounts to a cross-claim (b/c it’s not an indemnifier the way that rule 14 3rd party D’s usually are); 

a. Language of rule 14 suggests that it was only meant for indemnity situations

b. Cts seem to be expanding it 

c. Neuborne questions whether this is an Ok use of this rule – b/c an independent base of jurisdiction isn’t required.  Should be the same transaction and occurrence though, and here, with the architect, make the arg. That it is a different occurrence and thus bring this claim later.  Won’t be preclusive because it is not the same occurrence.


L.
Rule 42‑‑Consolidation; Separate Trials



1.
Rule 42(a)‑‑Consolidation‑‑Allows court to consolidate separate actions containing common questions of law or fact




a.
POLICY





(1)
Economy of judicial resources





(2)
Efficiency





(3)
Cost savings



2.seq level3 \h \r0 

seq level4 \h \r0 
Rule 42(b)‑‑Separation‑‑Allows court to separate consolidated actions




a.
POLICY





(1)
Avoidance of prejudice





(2)
Convenience





(3)
Speed





(4)
Cost savings





(5)
simplify complex litigation

M.
Rule 17



1.
Rule 17(a)—You’re supposed to bring the suit in the name of the Real party in interest—(a codification of Montana)
XIII.seq level1 \h \r0 

seq level2 \h \r0 
Joinder of Parties


A.
Tanbro Fabrics v. Beaunit Mills (1957 at 616)



1.
Facts




a.
Buyer is attempting to consolidate two separate cases




b.
Case #1—Seller v. Buyer for payment





counterclaim for breach of warranty




c.
Case #2‑‑Buyer v. yarn Processor to replevy goods




d.
Case #3‑‑Buyer v. Processor & Seller for defective goods



2.seq level3 \h \r0 
Processor and Seller object because consolidation would pit them against each other (about which one was at fault for causing the damage), without the Buyer having to make out any case



3.
Buyer says the goods and the defect are the same in both and the common issue is - who is responsible? (and if buyer brought separate cases, he might lose on both, even though one of them certainly did it)

3. Requirement for consolidation – same transaction/occurrence; Then interests in favor of consolidation (fairness to P, efficiency etc) are balanced against injustice to D’s

4. Court rules that Buyer must make out a prima facie case of alternative liability (that it was one of them) before such a consolidated action can go forward.

5. In reality, in a case like this, discovery would scare one of them into settling

6. If the case did go forward – D’s want to present a united front – But they’re worried about being precluded from bringing claims against each other later (if they pass up the chance to file 13(g) claims against each other) (it might be preclusive even though 13(g) claims are not mandatory)




-
this shows policy – wanting to encourage all the claims to be





brought at once


B.       Rule 20‑‑Permissive Joinder of Parties



20a –
you can join P’s together when there’s a common right to relief from 1 transaction/occurrence



- you can join D’s if you are making claims against them jointly 



- or allows alternative pleading (either X or Y did it)



So requirements for joining P’s or D’s = 

1. same transaction/occurrence

2. common Q of law and fact

· Rule 20 parties cannot violate diversity


Note – Neuborne’s Swiss bank example – that Switzerland doesn’t allow 


pleading in the alternative – so they want to bring the cases in the U.S. 


(Otherwise, they will have to try to prove exactly which party was at fault)


C. Rule 19 - generally

1. Can’t join a party under rule 19 if you don’t have IPJ or if you break diversity

2. If the party is indispensable (meaning the case can’t go forward without them) – if they are not there – the case has to be dismissed (Barrow v. Shields)

3. If the party is necessary (meaning the whole case isn’t dependant on them being there) -  

a. if it’s possible to get them, you have to - (so it’s dismissed if you don’t  - so that you have to go wherever you can get everyone together) 

b. if you can’t get them, it doesn’t have to be dismissed (where finding is limited to the present parties) (Cal. Superior Ct.)

4. Rule 19 makes it hard for people to leave out parties just for strategic purposes

5. Common trend – to taylor cases to avoid rule 19 problems

6. Consider – interests of P, risk to in-court parties, risk to out-of-ct parties, interests of the public

7. Think of case 2 – is it unfair/destabilizing? Will it just be a formality (a collection mechanism) (or pointless b/c all the property is gone)?


D.
Rule 19(a)‑‑A person is a necessary party if:



1.
Complete relief cannot be accorded (in the person's absence) among those who are already parties; or



2.
An adjudication on the subject matter of the litigation would




a.
Impair or impede the absent person's ability to protect their interest




b.
Place parties already present at risk of multiple or inconsistent obligations 


D.seq level2 \h \r0 

seq level3 \h \r0 
Rule 19(b)‑‑When a necessary party is indispensable

1. Ct. decides whether the case should go ahead without the party or 


be dismissed. Discretionary standard:



2.
Court should determine whether in equity and good conscience the action should proceed without the necessary party.  The court should consider the following factors:




a.
To what extent judgment rendered in the person's absence might be prejudicial




b.
To what extent can this prejudice be reduced through "the shaping" of relief




c.
Whether a judgment rendered in the person's absence will be adequate




d.
Whether the plaintiff will have an adequate remedy if the action is dismissed for non-joinder


C.seq level2 \h \r0 

seq level3 \h \r0 
Hundred mile bulge rule for in personam jurisdiction


D.
Burt's take on concerns involved in Rule 19 questions



1.
Actual parties are concerned about subsequent litigation



2.
Outside parties are concerned about the impact of the litigation on their interest



3.
Efficiency interest of the judiciary



4.
Community continuity interest‑‑the interest of the courts and the public in complete consistent and efficient settlement of controversies


E.seq level2 \h \r0 
Are the parties playing games?

1. Like D could try to use rule 19 to get the case dismissed

2. P could try to get the case thrown out of federal ct (when the indispensable party would ruin diversity by claiming that the case can’t go ahead without the person)


F.
Is there a forum where all the important parties can get in?


G.
Martin v. Wilks REVISITED (1989)



1.
Test – 

a. Will P be hurt by subsequent cases? (if the white firefighters can come in and get the case overturned – yes; but P wants a quick settlement so they take this risk)

b. Risk to in-court parties of having to pay twice? (N/A here – injunction case)

c. How can the out-of-ct parties be hurt? (They’re not precluded but there’s a limited amount of promotion opportunity which could be taken by the black firefighters so that even if white firefighters win case 2, the positions will already have been given out)

d. Interest to public (efficiency, use of resources, justice) – (yes – case 2 would be a waste of time because the white firefighters could have gotten in case 1; also, the job resources are given out already)

2. White firefighters were "necessary" parties – case would be more complete and the entire issue would be settled with them but can go ahead without them



a.
No jurisdictional problems





(1)
In personam‑‑white firefighters are present in the state





(2)
Subject matter‑‑Civil Rights Act of 1965

3. But the Q is – should the judge use rule 19 to force in parties that neither of the parties in the case want in? (No – don’t want judges to bring in parties that P and D don’t want)

4. If P or D had wanted them in, they could have forced them in. If the party doesn’t get brought in – then the party isn’t precluded from bringing another case later.

(You don’t use the 4 factor test unless P or D try to force a party into the case)


H.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Shields v. Barrow (1854 at 641)



1.
Facts




a.
Six Guarantors are jointly and severally liable for $100,000.




b.
Landowner and 4 Guarantors are Louisiana residents; 2 Guarantors are Mississippi residents




c.
L sues only the Mississippi guarantors in order to get diversity 



2.seq level3 \h \r0 
Supreme Court finds the Louisiana guarantors to be indispensable parties 




a.
And bringing the LA parties in would break diversity – so this case has to be brought in state ct. with the LA parties included.




b.
If the case went forward w/o the LA parties and L won 

(thereby reinstating the K), the LA parties’ K would be reinstated also. (they can’t be affected like that in a case where they aren’t present)




c.        Also if L recovered against the MS guarantors, they  would 


                                      have to sue LA guarantors to indemnify and they might 






lose. (Unfair case 2)




d.
Prohibition protects against repetitive litigation



3.seq level3 \h \r0 
Note that Erie "takes the heat out of" Shields
5. The rule is to protect the interest of included D’s and outside parties (b/c P’s interests are already accounted for since they can pick the forum and pick who they’re suing)

6. Rule – when D can show that an indispensable party’s absence will hurt that party, they have to be joined.


I.seq level2 \h \r0 
Bank of California v. Superior Court (1940 at 637)



1.
Facts




a.
Testate leaves $60,000 to many legatees, some of which live in other states and out of the country; but the bulk of the $ to a hospital




b.
S claims that testate signed a contract leaving everything to her




c.
S sues only some legatees, the bank (the executor) and the hospital; (the legatees don’t get served so they drop out of the case)



2.seq level3 \h \r0 
Defendants claim that absent parties are indispensable parties



3.
Bank is worried that it will end up paying twice (they already paid the other legatees – now they might have to pay that amount to S)



3.
Rule of indispensable parties is one of equity; where case can be fashioned so as to minimize the risk of prejudice caused if the case goes forward.



4.
Key in the case is to reorganize the substantive litigation so as to minimize the possible loss to outside parties. 



5.
Court allows the case to go forward by allowing S to litigate her claim only with respect to the appearing defendants. (bank wasn’t liable - so S could only get the $ given to the hospital)



6.
S would have to go forward b/c she wouldn’t be able to get them all. 


J.seq level2 \h \r0 
Provident Tradesmen v. Patterson (1968 at 644)



1.
Facts




a.
D has car insurance (I) which covers personal claims and "permission" claims (of others driving D’s car)




b.
D gives keys of car to C




c.
C gets into an accident with S while driving L & H




d.
Case #1





(1)
L’s estate  v. C’s estate





(2)
L gets a $50,000 settlement





(3)
but C’s estate is bankrupt





(3)
Shouldn’t judge have said that all the victims have to be there (rule 19) b/c there’s a limited amt of $ to be recovered from the insurance co.(thru permission claims)?




e.seq level4 \h \r0 
Case #2 {still pending during case 3}





(1)
H & S   v.  L, C, & D





(they sue L to make sure he doesn’t get more than his 1/3 share of C’s $100,000 insurance policy)




f.seq level4 \h \r0 
Case #3





(1)
L, H & S  v.  C & Ins. Co.





(2)
Suit is for declaration that Cionci had permission (and therefore the Ins. Co. is liable)





(3)
D isn’t brought in b/c he would break diversity



2.seq level3 \h \r0 

seq level4 \h \r0 
Ins. Co. claims on appeal that D was an indespensible party in case #3 (because they want the case dismissed)

a. Ct. decides D is “necessary” but not indispensable

b. By considering the 4 interests involved in letting the case go forward (or not)

(1) Ins co. is worried about repeated litigation – where the parties in the case recover the full policy amt and then D sues Ins. Co. later.  However, this doesn’t seem like a valid concern because D has no injury claim against the company. 

(2) Relief could be limited to the amt. of the insurance policy so that no one could sue him later to recover more.  Once the $100K is gone, that’s it. 

(3) Plaintiff’s perspective – can they get a full judgement without D being there? Yes because the insurance company is paying for the injuries and D has no personal responsibility for what happened.

(4) Is there an adequate remedy if the case is dismissed? – another forum where all the parties (including D) can be present? (case doesn’t say)

c. Looking at these 4 factors – ct. decides D is “necessary”



3.
Can’t bring him in b/c it will destroy diversity – and plaintiffs have a  




strong interest in preserving their judgment so judgment should be 




allowed to stand.



4.
Point – rule 19 is intended to prevent parties from being strategically left out – while weighing the interests involved to decide if the case should go forward without the party



5.
In any event, was D an indispensable party? Not really. Weak argument:




a.
D's coverage was lowered by $50,000 after case 1




b.
If D loses in case #2 on a personal liability theory, his coverage will only be $50,000. He could be found liable for an amount greater than that. (Really, though - Since D bears no personal responsibility here – he’s not going to be liable for more than the amt of the policy)

XIV.seq level1 \h \r0 

seq level2 \h \r0 

seq level3 \h \r0 
Impleader


A.
Rule 14



1.
Used to bring in another party



2.
Traditionally used when parties are in an indemnity relationship



3.
No independent base of jurisdiction needed

8. 28 USC '1367(b) is not a bar to Rule 14 joinders by defendants; statute refers only to parties joined by plaintiff

9. P can’t directly sue a 3rd party brought in under rule 14 unless there’s an independent base of jurisdiction (want to avoid Kroger problem where P’s manipulate the system by suing an unimpt person so that they will bring in the D you couldn’t sue b/c you didn’t have jurisdiction)



3.
Therefore, Rule 14 can be used as an end-run against diversity




a.
However, strategic defendant may not bring in non-diverse D, but may make a motion to dismiss under Rule 19.



4.seq level3 \h \r0 
Possible IPJ problem with rule 14 – but remember hundred mile bulge rule (IPJ not a problem with rule 13 b/c the target of the claim has already subjected themselves to the jurisdiction of the ct.)


B.seq level2 \h \r0 
Shields v. Barrow REVISITED (1854)



1.
Facts




a.
Six Guarantors are jointly and severally liable for $100,000.




b.
Landowner and 4 Guarantors are Louisiana residents; 2 Guarantors are Mississippi residents




c.
L sues only the Mississippi guarantors in order to get diversity



2.seq level3 \h \r0 
Supreme Court finds the Louisiana guarantors to be indispensable parties




a.
If the case went forward and L won, MS guarantors would have to sue LA guarantors and might lose.




b.
Prohibition protects against repetitive litigation



3.seq level3 \h \r0 
Using Rule 14(a), MS guarantors can bring LA guarantors into the action (even though they destroy diversity) – but the P couldn’t assert claims against them; OR



4.
MS guarantors can still move for dismissal under Rule 19


C.seq level2 \h \r0 
Jeub v. B/G Foods, Inc. (1942)



1.
Facts




a.
Swift delivered bad ham to B/G, who served it to Jeub




b.
Jeub v. B/G 




c.
B/G impleads Swift (Rule 14) (point – B/G could have lost the case and then had to sue Swift for indemnity – and could have lost)




d.
There’s no diversity between B/G and Swift – fine; (If Jeub and Swift had not been diverse – Jeub couldn’t sue Swift; If Swift made a 13a against Jeub – ct’s haven’t ruled on whether Jeub could then make a counterclaim – seems like they could)



3.seq level3 \h \r0 
(Questionable uses of rule 14 – 

a. used to bring in non-diverse parties who couldn’t have been brought in by the P originally (they’re indemnifiers – but they’re the most important party so you really should have just sued them directly – instead of suing less important diverse D1 to get into federal ct.)

b. For D1 to use rule 14 to get nondiverse parties that they want to sue into federal ct. (when they can make some argument that the 3rd party claim has some logical relationship with the base claim)


D.seq level2 \h \r0 
Revere Copper & Brass v. Aetna (1970)



1.
Facts




a.
Revere has Fuller do some construction work




b.
Revere and Fuller are not diverse




c.
Fuller's work was secured by a surety bond underwritten by Aetna




d.
Revere sues Aetna 




e.
Aetna impleads Fuller (Rule 14)




f.
Fuller asserts a "counterclaim" against Revere 13(a)



2.seq level3 \h \r0 
Fuller's counterclaim breaks diversity – if it’s a 13(a) – doesn’t matter



3.
B/c of ancillary jurisdiction ( since Fuller could be brought in -  there’s a common nucleus of fact – so a counterclaim against Revere is a 13(a)



4.
Could Revere shoot back?




a.
Lower cts say yes – seems fair (P couldn’t have sued the rule 14 3rd party D to start out – but the D sued him 1st so shouldn’t P be able to respond?)

c. P, of course, could not make a 13(b) claim (outside the common nucleus of facts) against rule 14 3rd party even though D shot 1st  b/c that would require an independent base of S.M. jurisdiction

d. Failure to bring a 13(b) claim won’t cause preclusion later. (as always) 

XV.seq level1 \h \r0 

seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Interpleader


A.
Generally



1.
Interpleader-‑the magic of creating in rem jurisdiction  - where the stakeholder (has control over $/property whose ownership is in dispute) deposits the $/property with the court of their choice and claimants have to argue the ownership of the property there (allows you to bring parties together who you couldn’t get IPJ over)



2.
In rem nature of the action frustrates a claimant's ability to control his/her own fate (think choice of forum).


3.seq level3 \h \r0 
Often D will implead the debt (ex. amount of an insurance policy) ‑‑will this lead to a defendant oriented system?



5.
Countervailing interests 




a.
Double Payment (Interpleader limits the assets that can be recovered by  claimants)




b.
Inconsistent liabilities/directions

d. Limited fund problem - when the stakeholder knows that the property/$ isn’t enough to satisfy all of the claims 

6. Interpleader doesn’t bar parties right to a jury (each can have their case heard and the judge only divides the prperty when the juries’ awards are in excess of the available total)


D.seq level2 \h \r0 
New York Life Ins. v. Dunlevy (1916 at 648)



1.
Facts




a.
Boggs & Buhl had a $150 default judgment against Dunlevy




b.
B&B want to get the $ from her by attaching her insurance policy; Her father (Gould) says he didn’t assign the policy to her;




c.
Case 1: Interpleader held in Pennsylvania after Dunlevy has left for California (she won’t come back) (Gould wins)




c.
Case #2‑‑Dunlevy v. Ins. Co. in California & Gould (for the policy/$)



2.seq level3 \h \r0 
Court rejects in rem theory of interpleader and rules that an interpleader is an action in personam.  Because Dunlevy was not in the state, the court in case one had no power to adjudicate the claim (Pennoyer).



3.
Gould’s/Ins. co. argument, that the interpleader was a binding judgment against her (b/c it was an in rem proceeding – so that she would have had to show up and assert her claim) (If she doesn’t show up, she’s still precluded from bringing a claim later) 

3. Ct says no. The 1st judgement wasn’t preclusive b/c no judgement over a party when the ct lacks IPJ can be preclusive.

4. POINT – 

a. This is the kind of crap that can happen if you don’t have interpleader that’s considered in rem

b. Should the interpleader case have even gone forward – shouldn’t she have been brought in under rule 19?



4.
Congress passed the federal interpleader act in response to Dunlevy



a.
Nationwide service of process




b.
Venue in any district in which any claimant resides




c.
Extremely low jurisdictional amount ($500)


C.
Rule interpleader‑‑Rule 22 (Interpleader when stakeholder has an interest)



1.
Functions as a declaratory in personam action (as though the stakeholder sues the claimants) 




a.
ex. Insurance co. sues claimants on a policy to settle who gets the $




b.
Not a true in rem proceeding (it’s still P vs. D so IPJ is required for all the parties) 




b.
Court must have in personam jurisdiction over stakeholder and all claimants



2.seq level3 \h \r0 
Subject matter is diversity




a.
Minimum diversity (between plaintiff and one D)




b.
Asset must be $75,000

3. *Claims against the P may be joined (interpleader used) when the claims are such that the P would be exposed to multiple liability

4. It’s ok for claimants to be adverse to one another (could be claiming different shares)

5. It’s ok for P to have a stake in the outcome – so P can deny any liability (and say they don’t have to pay anything at all)

6. 22 doesn’t supercede 1335

7. IPJ requirement serves as a check on stakeholder’s power to choose forum (that’s why Ct’s want interested stakeholders to use 22 and not §1335)

8. VENUE – 

a. If claimants all reside in the same state, that’s the proper venue

b. If not, it has to be in the venue of the stakeholder (place of incorporation or principal place of business for corp.’s) 

c. These restrictions are waivable but if any of the claimants object, the rules must be followed 


D.seq level2 \h \r0 

seq level3 \h \r0 
Statutory interpleader‑‑28 USC '1335 (cts only like to let it be used when stakeholder has no interest/no legal role in the case) 



1.
Jurisdictional amount is $500



2.
Minimum diversity‑‑is any claimant diverse from any other claimant




a.
So Rule 22 interpleader is still used where all claimants are from the same state (b/c then diversity is measured between stakeholder and claimants instead of just between claimants)



3.seq level3 \h \r0 
Nationwide service of process (don’t have to tag the person) (§2361) 



4.
Court has direct power to enjoin other actions from going forward (§2361)

5. VENUE in any district in which any claimant resides

6. If you let everyone (including interested stakeholders) use 1335 – IPJ would be destroyed

7. Cts scrutinize the use of 1335 closely b/c if you allow avoidance of IPJ – it’s against states’ rights (allows for national service)

8. B/c the country is moving toward more states’ rights, cts are more reluctant to use 1335  

9. Ct won’t let a stakeholder with an interest use 1335 just b/c of the convenience argument that she can’t everyone in ct. under 22 (not allowed b/c it lets the stakeholder who has an interest pick the forum)

E.seq level2 \h \r0 

seq level3 \h \r0 
Pan American v. Revere (1960 at 652)

1. Alternatives to interpleader

a. class action

b. insurance co could try to drag in all the parties under rule 19 (and say case shouldn’t go forward without them) 

(1) judge isn’t likely to allow this type of blackmail (saying the case will be thrown out unless all of the claimants come in)

2. Without interpleader – claimants would race to the courthouse and 

scramble to get something; Claimants will be likely to settle for less (undervalue their claims) b/c they’re afraid of getting cut out completely.


F.seq level2 \h \r0 
State Farm v. Tashire (1967 at 657)



1.
Facts




a.
Collision involving a bus and a truck.  The defendants were:





(1)
Greyhound (owner of the bus)





(2)
Nauta (the bus driver)





(3)
Clark (the driver of the truck)





(4)
Glasgow (owner of the truck)




b.seq level4 \h \r0 
Clark had $20,000 worth of insurance coverage by State Farm




c.
State Farm used statutory interpleader





(1)
Paid $20,000 to an Oregon court





(2)
Asked the court to require all claimants to establish all their claims in the Oregon proceeding  

(2) (want to force all the parties to try all their claims in Oregon – b/c they want everything tried in one case – convenience)

(3) They use the insurance policy to drag everyone there

(4) Ct says you can’t use interpleader to bring all litigation about a single occurrence to a single place when the interpleader isn’t the whole case; It can only be used to protect the insurance co.

(5) So only the claims within the interpleader proceeding (having to do with the $20,000) can be used to drag parties to Oregon



2.seq level3 \h \r0 

seq level4 \h \r0 
Court upholds use of minimum diversity in interpleader



3.
Where fund is such a small part of the litigation, interpleader should not be used to compel plaintiffs to litigate in Oregon



4.
Modern use is "limited fund" interpleader




a.
Winning litigant from a prior case interpleads the award they received – knowing that the other claimants are going to come after them to recover (afraid that they will have to pay out more than they recovered themselves)




b.
Fund is distributed through an equitable distribution hearing‑‑similar to a bankruptcy hearing

XVI.seq level1 \h \r0 

seq level2 \h \r0 

seq level3 \h \r0 
Intervention


A.
Generally



1.
Common law intervention operated with background notions of preclusion and limited fund scenarios



2.
Modern scenarios




a.
Parties at litigation don't know about the outside party.  Outside parties will have to fight their way in.




b.
Parties know of the outside party, but strategically leave it out (Wilks)- again, fight your way in. 



3.seq level3 \h \r0 
Structure of Rule 19 is very similar to Rule 24 but:




a.
Rule 19- You want these people in for preclusion purposes.  You want them in there to have a final adjudication on the merits, to preclude them from collaterally attacking your judgment later.




b.
Rule 24 is concerned with efficiency‑‑POLICY





(1)
Judicial economy by resolving related issues in a single lawsuit- preventing multiple suits 





(2)
However, remember letting them in might cause more complicated suit (pertinent to 24(b))



4.seq level3 \h \r0 

seq level4 \h \r0 
Wilks‑‑no day in court = no preclusion possible.  Here, efficiency is not the only concern-that would have said- bring ‘em in!  Also, it seems “just” to bring them in when their interests are at stake!

· timely application is required under 24(a)- they waited too long.

4. Remember that a rule 19 party can not intervene and break diversity, this allows strategic leaving out of a party.  24(a)  parallels this rule- if an indispensable party is not let in if diversity is broken, why should an intervenor be allowed in?  (This is specifically mention in 1367)



6.
It is often held that the United States adequately represents the public interest in antitrust suits and intervention in those cases is denied absent a clear showing to the contrary.  Fun fact for Don’s amusement!


B.seq level2 \h \r0 
Rule 24(a)‑‑Intervention of right – (addresses the limited fund problem)



1.
A person shall be permitted to intervene in an action When the applicant claims an interest relating to the property or transaction which is the subject of the action and the applicant is so situated that the disposition of the action may as a practical matter impair or impede the applicant's ability to protect that interest;




a.
This cannot simply mean stare decisis because such a definition would be overbroad‑‑it would include everybody!



2.seq level3 \h \r0 
Unless the applicant's interest is adequately represented by existing parties




a.
Parties must effectively deal with the prospective intervenor's interest

3. If a federal statute gives you the unconditional right to intervene, then you can.  

4. (If you feel that there will be a case 2 where case 1’s ruling will be collaterally attacked – makes sense to let the party come in – to promote finality/prevent inconsistent verdicts)

5. Denial of 24(a) is appealable, therefore parties will bring 24(a) and 24(b)  simulatenously.


C.seq level2 \h \r0 

seq level3 \h \r0 
Rule 24(b)‑‑Permissive intervention



A party can intervene when there is a statute that confers a conditional right to intervene and when an



1.
Applicant's claim or defense has a question of law or fact in common with the main action; but



2.
ONLY at the discretion of the court- shall it will unduly delay or prejudice the adjudication of consider whether the rights of the original parties.


D,  Brennan Center Hypothetical

1. Facts:  Maine makes new law that if you take public funding for campaigns and sets up some strict rules.  However, you are far more penalized if you take private contributions.  

2. ACLU and Wackos (Right to Lifers ) are suing the Attorney General contesting this law.  Brennan Center wants to intervene on side of attorney general.

3. ACLU and Wackos say this will become too complex and that AG will adequately represent the interests.  Brennan Center says that he may not be able to do a great job since he is paid/appointed by this sneaky politicians.

4. Appeals court says only has to be a possibility that your interests won’t be adequately represented.  Burty thinks that the Brennan Center should be denied from intervening.  


D.seq level2 \h \r0 
Smuck v. Hobson (1969 at 669)



1.
Facts




a.
D.C. School was "racially and economically discriminatory"




b.
Case #1





(1)
Class composed of Black and poor children sues school





(2)
School loses and elects not to appeal-  remember, if you appeal and lose – preclusion kicks in





(3)
Parents first attempt to intervene is denied since the school board interests are those of the parents.  Parents are allowed to intervene in order to appeal



2.seq level3 \h \r0 

seq level4 \h \r0 
Question is whether the parents were adequately represented by the school board's decision not to appeal-  these parents wish to intervene to appeal, obviously their interests are not being represented since the board is deciding not to appeal.



3.
Parents bear the burden to show that the board is not acting with their interests in mind.  Court finds that parents would be practically disadvantaged by a failure to appeal.
5. Intervention in the appeal is not frowned upon here.  They are not jumping in and making the trial unduly delayed or complex.


E.seq level2 \h \r0 

seq level3 \h \r0 
Atlantis Development v. US (675)


1.
Facts




a.
Owner 1 and Owner 2 both claim the same reef




b.
United states claims





(1)
Ownership- due to the federal statute Outer Continental Shelf Lands Act





(2)
Any development on the reef requires a specialized permit




c.seq level4 \h \r0 
Case #1‑‑United States vs. Owner 1




d.
Owner 2 claims to be a Rule 24(a) party



2.seq level3 \h \r0 
Instant case is the "flip-side" of Shutton


3.
Owner 2's interest is much greater than simple stare decisis; owner's claim is to the VERY PROPERTY which is the subject of the main action.  Nature of the adjudication over the actual property will create de facto preclusion



4.
Owner 2's interest is not adequately represented by the interests of the other parties

XVII.seq level1 \h \r0 

seq level2 \h \r0 
Class Actions


A.
Generally



1.
Class action is intimately connected with interpleader and joinder




a.
Interpleader‑‑adjudication by the thing




b.
Class action‑‑adjudication by the people




(1)
There are two conceptualizations of class action






(a)
Mass-joinder provision (where each of the P’s oppose D; or where each D has a stake in opposing P)






(b)
Instrument of virtual representation (where class members are similarly situated but would not necessarily choose to oppose D on their own – rep is looking out for their interests)



2.seq level3 \h \r0 

seq level4 \h \r0 

seq level5 \h \r0 
Classes and diversity




a.
Diversity is tested by citizenship of named parties

(1) good b/c it allows the class to meet diversity in cases where the class has members in every state

(2) can be abused when almost all the class members are in the same state as D – but you name the few diverse members to get into federal ct.

(3) Neuborne says – eventually, diversity will probably be measured by the state where most of the parties are from – to avoid all this fucking around




b.
Jurisdictional amount is tested by every member's individual claim



3.seq level3 \h \r0 
Critical fiction‑‑We pretend that everyone is in the courtroom (virtual representation).  Does this comport with due process?




a.
adequacy of representation is vital

(1) want to ensure people have been represented fully if they are going to be bound (23(a)(4))

(2) the have figuratively had their day in court




b.
Special protections to ensure the competency of the representative

(1) there must be a common issue of law or fact in the class (23(a)(2))

(2) the rep must have a claim that is typical of the other class members (23(a)(3))



4.seq level3 \h \r0 
What is the interplay between class certification and individual preclusion rules?




a.
Are there internal conflicts within the class? 




b.
Are there significant differences within the class?




c.
WHAT IS THE LINK BETWEEN CLASS MEMBERS? (commonality)




-
raise arguments that members weren’t represented and shouldn’t be precluded



5.seq level3 \h \r0 
Not clear whether counter-claims against classes must run against every individual within the class




a.
Cts are split b/c this risk would make people opt-out



6.
Strategic litigation




a.
Litigate case #1




b.
Certify the rest of the class for case #2




c.
Use result in case #1 to leverage favorable settlement for class in case 2




d.
If no settlement, then case #1 still has stare decisis weight



7.seq level3 \h \r0 
Class actions create a moral hazard for settlement




a.
Bribery of representative party (named party may get some $)




b.
Attorney's desire for guaranteed fees through settlement (they get paid the same either way – however long they work on it)




c.
Other members of the class get screwed



8.seq level3 \h \r0 
Class settlements must be approved by a judge (Rule 23(e))




a.
Equities of the settlement




b.
Validity of the attorney's fees




c.
Possibility of a public hearing on the settlement




d.
judge acts as a trustee of absent parties



9.seq level3 \h \r0 
Mistake in certification




a.
If there is a failure to certify the class, retroactive class certification is possible

10. When a case looks like a b3 – P’s may try to certify a b1

a. avoids the costs of notice

b. see (1) below



10.seq level3 \h \r0 
Internal conflict in a class




a.
Can the collision be mitigated through "artful pleading"?

(1) by avoiding the notice requirement (fitting the case into (b)(1) so that members are stuck)




b.
Class bifurcation

(1) If there’s a lot of conflict, the judge may divide the 


class into subclasses





(1)
Consequences:






-
Increase in litigation

· Transactions cost may outweigh benefits of class certification

11. Nomination of class representatives

a. P seeking certification usually nominates themselves as a rep

b. W/ D classes - P nominates member/s of the D class to be the representative – rule 23(a) is still required

c. Nominations aren’t final – judge has discretion and can reject or modify 

d. Judge will be skeptical b/c P may choose a D as rep just to create diversity; or may choose the weakest D as the rep  


12.seq level3 \h \r0 
POLICIES:




a.
Cost of individual justice is too high




b.
Judicial economy




c.
Equitable division of defendant's scarce resources


B.seq level2 \h \r0 

seq level3 \h \r0 
Rule 23(a)‑‑"basic requirements of due process"



1.
Numerosity such that joinder is impracticable




a.
class<25 – generally – not enough

c. class>40 – generally – enough

d. in between – consider geographical location of members and the size of claims (to see how likely it is that the class members will participate)



2.seq level3 \h \r0 
Typicality




a.
Is the claim of the class representative typical of those she wishes to represent



3.seq level3 \h \r0 
Commonality (common thread through all claims)




a.
Of law




b.
Of fact



4.seq level3 \h \r0 
ADEQUECY OF REPRESENTATION (especially critical where the class is not under 23(b)(3) and therefore no notice or opt-out is required)

a. rep. parties are adequate – have a substantial stake in the outcome

b. no fishy relationship between the rep.’s and the lawyer (that would affect judgement)

c. adequacy of lawyer – competence and support resources

d. internal antagonism


C.seq level2 \h \r0 
Rule 23(b)‑‑"under what circumstances"



1.
23(b)(1)(a)‑‑Will D be "whipsawed" by inconsistent defenses? (where a D will be repeatedly sued and be subject to inconsistent verdicts)



2.
23(b)(1)(b)‑‑Will prospective Ps interest be impaired or impeded?




a.
Gives D a chance to "even up the score" by forcing a class action upon plaintiffs (not having to defend repeatedly – settle it in one suit)





(1)
Thus D can limit the use of offensive non-mutual collateral estoppel





(2)
Lets D settle distribution of a limited fund (won’t have to keep paying beyond the amount)




b.seq level4 \h \r0 
Impacts settlement negotiations

(1) P’s may want to settle b/c they know this is their only shot

(2) Generally class certification affects settlement - in 






leverage and publicity



3.
A P’s group could use 23(b)(1) to certify their class by saying that D 





runs the risk of inconsistent verdicts or paying more than a limited 

      fund – (then P could avoid notice requirements of 23(b)(3))



3.seq level3 \h \r0 
23(b)(2)‑‑Is D screwing a class of similarly situated P's (abrogation of a common right)?




a.
Burt Neuborne's paradigm of a "civil rights" class

(1) often individuals with these claims will not sue on their own behalf b/c of cost

(2) they may not know they have a claim

(3) they may not have access to atty’s




b.
Only available relief is equitable (i.e. injunctions)





(1)
Some money damages are available, but monetary damage claim cannot "predominate" (so no tort claim)



4.seq level3 \h \r0 

seq level4 \h \r0 
23(b)(3)‑‑Predomination of common issues of law or fact




a.
common Q’s of law or fact have to predominate over Q’s affecting only individual class members 

(1) efficiency and economy outweigh member’s 







interest in separate cases

c. AND the class action is superior to other methods for fair and efficient adjudication of the controversy

(1) like administrative proceedings, individual 


actions, a single “test” case 




b.
"Wildcard" class – much wider that 1 or 2




b.
Favored by securities and products liability bar (mass tort)




c.
Requires "notice and opt out" (Rule 23(c)(2))





(1)
Cost of such notice is high

(a) D used to have to pay the cost of notice

(b) But now whoever makes the class has to pay (so they want to avoid b3)





(2)
Vital for due process





(3)
Paternalism‑‑is opt out a good idea?






(a)
Allows individual Ps to control their own destinies






(b)
Allows individual Ps to be scared by powerful Ds





(4)seq level5 \h \r0 
No notice and opt out is required for other classes because other classes are assumed to be more homogeneous

d. blow provision – parties agree on the % of members in the class that have to stay in (and be bound by the settlement) for a settlement to be valid

6. Attorney fees – under b1 and b3 – it’s a percentage while under b2, atty’s have to keep track of hours and get reimbursed by the loser 


D.seq level2 \h \r0 

seq level3 \h \r0 

seq level4 \h \r0 
Rule 23(c)(1) hearing‑‑motion to certify the class



1.
Formal definition of the class




a.
Rule 23(a)




b.
Rule 23(b)



2.seq level3 \h \r0 
Sets out boundaries




a.
defines the issues (narrowly or broadly)




b.
Remedies sought




b.
Preclusive effect as a result of class certification




3.       To make the decision:

a. Ct. may use the paper record, have a hearing or have discovery about the nature of the class

b. Ct. may not consider the merits of the case in certifying a class


E.seq level2 \h \r0 

seq level3 \h \r0 
Hansberry v. Lee (1940 at 704)



1.
Facts




a.
Land developer has a restrictive covenant he wishes to enforce




b.
Covenant must be signed by 95% of owners in order to be effective




c.
Case #1‑‑Owner gets a declaratory judgment against a class of land owners that 95% of the owners signed the covenant





(1)
In fact, only 54% of the owners signed the covenant





(2)
Only 40% were served and represented in the suit




d.seq level4 \h \r0 
Case #2‑‑Owner sues for injunction to prevent violation of the covenant and claims that land seller is issue precluded from asserting that the covenant was not valid



2.seq level3 \h \r0 
No – class was invalid.




-
Class was not homogeneous‑‑Representative defendant's 





claim did not represent the class




a.
This is a Rule 23(a)(3) problem—typicality

c. the class did not represent Hansberry or the seller; their interests were in conflict



3.seq level3 \h \r0 
Therefore, using issue preclusion would violate Hansberry's/land seller’s right to due process because it is clear that they did not (even figuratively) have their day in court – they weren’t represented and can’t be precluded


G.seq level2 \h \r0 

seq level3 \h \r0 
Phillips Petroleum Co. v. Shutts (1985)



1.
Facts




a.
Class action of gas royalty owners





(1)
99% of gas leases and 97% of the class have no connection with Kansas




b.seq level4 \h \r0 
Action is brought in Kansas state court



2.seq level3 \h \r0 
Phillips argues that no minimum contacts exist between all the plaintiffs and the forum state in order for the state to assert in personam jurisdiction



3.
Court rules that notice + opportunity to opt-out constitutes consent




a.
P’s are subjecting themselves to the jurisdiction by consent – so minimum contact doesn’t matter




b.
Opt-in is not required because of procedural safeguards which ensure adequate representation & that absent plaintiff is not faced with any "burdens" 




b.
It is likely that if the class were made up of defendants, consent could not be construed from mere silence



4.seq level3 \h \r0 
Choice of law




a.
Mere provision of forum does not constitute sufficient affiliation to apply the forum's law.

(1) The ct. should apply the law of where each member of the class is from (if it conflicts with the law of the forum state) (Ct. here said it didn’t conflict) 

G. Wetzel

1. Industry practice in insurance where women are discriminated against in promotion standards

2. Women in 1 company want to sue

3. Who can they represent? They try to go forward with a b2 b/c they don’t want to deal with b3 requirements

4. Ins. Co wants a b3 so that P’s will have to deal with notice requirement (so the case won’t happen or class will be smaller)

5. Judge says it’s a b2 b/c they want an injunction and b/c their rights were violated the same way by the same D

6. Problem – class ends up being precluded from seeking damages later

7. Modern trend – allow damage claims under b2 (as long as damage issue doesn’t predominate)

a. problem – no procedural protections so that people can be precluded from seeking damages when they didn’t have a choice about whether to participate in case 1

8. P’s could have tried a b1A – where P is a class and D is a class too – to prevent conflicting rules within the industry (to prevent other insurance co’s from being sued by other groups later)

H. Cooper

1. Note – probably an anomalous case

2. b2 case – says wrong treatment of a class as a whole 

3. SC suggests that there are 2 types of relief:

a. I was treated wrongly

b. I was treated wrongly as part of a class

c.  (systematic/pattern vs. individual – absence of a pattern doesn’t mean absence of individual wrong)

4. So these are 2 dift. issues – no preclusion for an individual to file a separate suit following the failure of a class action

5. If there’s a difference between the individual’s claim and the class’ claim – they can bring the individual case

6. Does this make a b1 action obsolete – b/c certifying a class won’t preclude individual P’s from suing D again (won’t protect D)

7. Should this apply to b3 also?

a. No, because D isn’t necessarily acting in the same way toward P’s as a whole

b. b3 is about a group, each having individual claims against D

I. GTE v. Falcon
1. Defn of class – can’t be too broad – have to tell a story of how all the members have been harmed by a particular set of events

2.  Neuborne’s idea of how to decide a class:

a. If I could bring them all in physically using rule 19 (in that they’re all involved in the situation), then they’re a class

b. (I don’t mean jurisdiction!)









